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India is a vast country. So in olden days it was very difficult to send news from
one place to another. So there was no unity. There are many passes in the north
west border of the vast area of Northern India. The passes have played a
prominent role in the Indian History.
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B.Com. DEGREE EXAMINATION NOVEMBER 2015.
First Semester
ENGLISH BASIC
(Revised /Old)

Time : Three hours Maximum : 80 marks

Text : Imprints

1.  Answer the following questions in a word, a phrase or a sentence each :
(10 x 1 =10)
(@) Who suggested Govind Singh to take the letter to X-ray Institute?
(b) How old was the thief when he met Arun?
{c) Name the writer of the ‘short story “Too Dear”.
(d) Who wrote the article “More than 100 Million Women are missing”?
() Who discovered the existence of deer?
() Whom does Rabindranath Tagore address as father in the poem “Where the
Mind is without Fear”?
(g0 Who is Mr.Kapur in the poem “Tribute to Papa”?
(h) What is longer than love according to Pabio Naruda?
(i Who won the seven years war?
() Name the poet of the poem “Vultures”.
2. Explain with reference to the context any TWO of the following, choosing one
from Prose and one from Poetry : (2 x5=10)
(a) “I'm the new gate keeper, Master”.
(b} “ButI have nowhere to go. What can I do?”
(c) “Who cares for your clean thoughts, clean words, clean teeth?”
(d) “Love is so short, forgetting is so long”.
3. (a) What problems did the government of Monaco face in attempting to punish
the Murderer? (1 x10=10)
Or
(b) Sketch the character of Govind Singh.
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How does the poet try to convey the message in the poem “Questions from a

worker who reads”? (1 x 10 = 10)
Or

The poem “Where the mind is without fear” has a Universal Message.
Justify.

5. Write short notes on any TWO of the following, choosing one from Prose and one

(@)

(d)
6. (a)
(b)
7. (&)

from Poetry : (2 x 5=10)

Registered Letter

Father David

‘Poet’s Papa

Ending of the Poem “Vultures’.

Fill in the blanks with appropriate articles : (5x1=29)
(i) Mr.Patilis honest man.

(i) Have you read Bible.

(i) It was excellent offer.

(ivy He gave me one rupee note.

(v) His father is Union Leader.

Fill in the blanks with appropriate prepositions : (5x1=29)
(i) The Taj Mahal is Agra.

(ii) He is down fever.

(iiiy Don’t wait me.

(iv) He died cancer.

(v) They come to college bus.

Rewrite as directed without changing the meaning. (5x1=9)

(i)  Ashokais a great Emperor. (Change into Superlative degree)
(iij She is too poor to buy a car. (Remove ‘Too))
(i) If you tell the truth, I will forgive you. (Use unless)

(iv) As soon as the bell rang, the teacher entered the class room. (Use No
sooner ... than)

(vi Whata horrible movie it is!. (Change into assertive)
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Give synonyms of the following words : (5x1=25)
i) Timd

(1) Refuse
(i) Cure
(iv) Queer
(v) Blend

Godrej Company, Hyderabad requires the Service of a Marketing Manager.
Prepare vour resume and send it to the Personnel Manager with necessary
details. (1x5=25)

Expand the idea into a paragraph on any ONE of the following: (1 x 5 =5)
(i) Time and tide waits for none.

(1) Work is worship.
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B.Com. DEGREE EXAMINATION NOVEMBER 2015.
First Semester
ADDITIONAL ENGLISH
(Revised/Old)
Time : Three hours ' Maximum : 80 marks
. Text : A Doll’s House

1.  Answer the following questions in a word, a phrase or a sentence each :
(10 x 1 = 10)

(a) What was Krogstad by profession?
(b) What did the doctor advise Nora on her husband’s health?

(c) Who is the best friend of Torvalds?

(d) What was the purpose of Mrs.Linden coming to Torvald’s place?
() Name the bank of which Torvald has been made the Manager.
(f) Who was forged the signature of Nora’s father?

(g Whom do children call strange man?

(h) Where did Nora learn the tarantella?

(i) How many children do the Helmers have?

() Who is the Villain in the play?

[{]

Explain with reference to the context any TWO of the following, choosing one
from Prose and one from Poetry : (2 x5=10)

(@j Oh, the last eight years have been a happy time, I can tell you.

(b) My mother was still alive, you see bed ridden and helpless and I had my
two younger brothers to think of.

(c) Will you be so good as to see that I retain my subordinate position in the
Bank?

(d) Has my little spendthrift been making the fly again?

3. (a) Comment on the little — ‘A Doll’s House’. (10)
Or
(b)  “A Doll’s House” represents the feminist attitude” - Substantiate.
1
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(a) Portray the character of Nora Helmer. (10)
Or
(b) “A Doll’s House is a tragedy” — Discuss.

Write short notes on any TWO of the following, choosing one from Prose and one
from Poetry : (2 x5 =10)

(a) Doctor Rank
(b) End of the play
(c) Krogstad’s visit to Helmer’s house

(d) Stenborgs fancy ball

(a) Read the following passage carefully and match the words with their
meanings given below : (10 x 1 = 10)
My father recalls his first encounter with my mother with a wry smile,
so many decades later. He describes each stage as if it happened last week.
How his elder brother asked to see the ‘girl’ in broad day light and insisted
on her displaying a bit of her ankles too!. This was to make sure my mother
was not lame, had no deformities in her lower limbs, that a flowing nine
yard saree could successfully camouflage, and that she could walk
unaided!. The ‘broad daylight’ factor was to judge the exact shade of her
complexion - naturally light skinned or caked with ‘snow’ and talcum
Powder? Fortunately, she was not asked to sing, dance or produce culinary
miracle for the guests benefit?

Words Meanings
(i) recall (1) parts of the body
(i) decades (2) related to cooking
(iii) insisted (3) impossible can be made possible
(iv) display (4) hide the real appearance’
(v) limbs (5) ten year period
(vi) camouflage (6) bring back to memory
(vil) complexion (7)  forcing to do
(viii) fortunately (8) facial expression
(ix) culinary (9) show
(x) miracle (10) with good luck
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Your college N.S.S. Unit is going to organize N.S.S. Special Camp. Assuming
that vou are the student leader, write a report to the editor of a daily
newspaper. (1 x 10 = 10)

Prepare a newspaper headline for power cut due to scanty rain. (1 x5=25)

Prepare a slogan to ‘Protect Environment’, (1 x5=5)




1095-A33-ISC-R-N-15

B.Com. DEGREE EXAMINATION NOVEMBER 2015.

First Semester
BUSINESS ENVIRONMENT

(Revised)

Time : Three hours Maximum : 80 marks
Atternps all the questions subject to internal choice.

ucstion No. 13 is compulsory (Case Study)
SECTION A — (10 x 2 = 20 marks)

1.  Answer any TEN of the following :
FINT Weson B398, suZDA0 :

(a) Define the term Business.

2,750 IuT 9,85 230900,

(b} “rate any four characteristics of Modern Business.

ZIARTY [HITVL 030 @B Do), Oﬁwm}d& 392,

(¢}  What is National Income?
Ta& 0 ew0B0BTeRO?

{d} What is Capitalism?
20BTYB&C a‘;sxﬁé QOTTBEBO?

{e) What is legal environment?
FoRAAT JOIT LowBemo?

{f)y  What is Culture?
303@3 20RTeRO?

(g) What is social responsibility of business?

agsdmdd BT BRHBMOT doBTeR?

(h) Expand SEBI and LPG.
SEBI 203 LPGOJ.)(&; D7 020.
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(i) Whatis technological environment?
30038 JORT D0TBERO?

G) What is micro environment?
mg@waﬁw Sdordeso?

(k) Whatis Liberalisation?
UEDEET e HOBVERT?

() Whatis Fiscal Policy?
es0d> J,043T des HoxBeRO?

SECTIONB — (3 x5 =15 marks)

Answer any THREE of the following :
2YNT 030R)TWTR 0RO z;édﬁv?ﬁ eu3020

9. State the economic objectives of business in brief.
33200 sRFs eurdeBnes), BogZmoh w00

3.  State the features of capitalism.
20BeYTLE FFLOD g ends), wooDd.

4. Explain the economic role of the Government.

20600 6HFE TIITY D3020.

5. Explain the benefits of Social Audit.
BT I, FoBRepB0b T,oseeEBRYRY, A3

6. What are the components of political and legal environment?
Tosdead Y FoRARO 2O 635208NRW IR )?

7 Write note on “Science and Technological Policy” of the Government of India -

2003.
20033 70038 00T DT B0 303501 De3abR DIV
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SECTION C — (3 x 15 = 45 marks)

Answer any THREE; Question No. 13 is compulsory :
3e5o0 Soe0d, 30 BB Fosk 13 Y3 000=5NCOET :

Who are the major players in the business environment? Explain.
dédmd SORTRAT ZB0D T3 PoOrieh 035307 ATDA0.

Explain the various arguments for and against LPG.
LPGod 38 Fonte 2308 803 SBNYTY, JSOXD.

What is government intervention in business? Explain the advantages and
disadvantages of government intervention in business.

3,S%e0BY, K0T0T Y 20BBER? FSHTVBAF $UTTH B3eIR0T BT WTOTROI
R03) BTerIBROINSR), HSOD.

Discuss the socio-cultural factors affecting business.
TOBRLT-FI0R, 38 JOTT 8o3ney J[HOT Soeds Bert Syex DEBOTT) 0BT LB

What is technology? Explain the economic effects of technology on business.
303259F 20FTER? 3033008 FIFOT RS Beo3eIsnY  Docwerys SOHRIDIY
DS3D20.

Compulsory question (Case Study) :

g@a0d 28 (Jzoe &g 0T) !

As per new economic policy 1991, it is open to the investors to invest any where
‘n the world. Our Prime Minister Shri Narendra Modi visiting many countries to

invite the global investors to India. In this context, answer the following
questions :

(a) What are the merits of Foreign investment?
(b) Has Prime Minister succeeded in attracting F.D.L.
(c) What are the demerits of FDI?

19915 epFs Dedoh URIC BABEEIT0 HAWNRTT (wigS 0In= Be8rodRE3R)
B0 InBe SVTNTS. B3 BT Ipes 0y e B0y, SecdodIc died
BARFEITORY, YT, €350 VR =wR3T vdes Bdeandn el Derdo3wT. B S Sobd YN
BBRIR eu300 :

(a) OWed BRPTOROTINS BRBIBRONYIR)R)?

(b) TFem Boognvo e BHBTEITTRY, VBAFRISS, o33 odNmeBodre?

() r3e8 ST BABFOWOWNISI IVIBOBTRONYIR)R)?
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B.Com. DEGREE EXAMINATION NOVEMBER 2015.
First Semester
Paper I — MANAGERIAL ECONOMICS
(Revised)

“:ime : Three hours Maximum : 80 marks

All sub-questions should be answered continuously at one place.

Draw diagrams wherever necessary.
SECTION A — (10 x 2 = 20 marks)

- Answer any TEN of the following questions :
Bewon B S3N9n evzd20 :

(a)  State the basic problems of a management.
BBYI S00BYOD [oee Sm%ﬁ%fdgl 8920.

(b) How are Economics and Managerial Economics related?
VBB, BNR ASFBH VP BR NP FowoRSesH?

(c) State any two types of Price Elasticity of Demand.
W3 WBeBFod %smmsasaw odnF)de HTB @@dﬂ@&?’l 3920.

(d) Define Demand.
weaﬁododgi mzsa%;’q&

(e)  State the Cross Elasticity of Demand.
WeBod 530 %émmsﬁé;aoddem?

(fi ~ What do you mean by contraction in supply?
FPEFobY BorHdT H0BBerd?

(g}  Find out the elasticity of supply from the data given below :

P-10/- Q - 20 units

P;-15/- Q1 - 30 units

gt &aé.gd ©0d-vo3ndor qs’;aqjﬁab ;gsmgss‘ga% TorO &B0VY ;
P-0n. 10 Q - 20 Peszried

P, -9dn. 15 Q1 - 30 a’ﬁéaﬁﬁejo
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(h) Give the meaning of Supply Function.
RT3 RORT S0 BFESDB, QeBD.

(i) What do you mean by Production Function?
PUBITTR wROE0H H0BTERO?

) Whatis the meaning of Explicit Cost?
33 S4p wpeSeso?

(k) Define Marginal Cost. How do you get it?
0ud ;stuasabdm?sa%?ub. VT, sEert SrBodnged?

() Find out the Average Cost when AFC - 10/- and AVC - 8/-.
AFC - Bw. 10 ®one AVC - gw. 8 AN, R0RO ;stuaﬁmqﬁoc& HROWD.

SECTIONB— (3 x5 = 15 marks)
Answer any THREE of the following questions :
R OPCATY '@éﬂﬁﬁ@mdeﬂd Soe0y, gu3020

5.  State and explain the features of Managerial Economics.
AIcBTH azﬁraaﬁad e)gs'arieziqui 23T, SO0,

3.  Distinguish between the Incremental Revenue and Marginal Revenue.
af’zsowdb 32030 FINP WOUT BTN VBT asésaésﬁqmqae?%b.

4, Examine the extension and increase in demand.

‘3eBod LRIQY TN ‘23800 20T riedy, OGO,

5. Explain any two types of Elasticity of Supply.
RPG3 %@3@@&%3&6 odR) e HTBO a)jﬁadm}abdx)aia;%b.

6. What are the internal economics of a firm?

om0 RoA03 80808 203D

7. Examine the relationships between AC and MC with a suitable diagram.

odwery B%So&faoaﬁ AC ®onn MCnY 8803 AN ALY JDeg20.
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SECTION C — (3 x 15 = 45 marks)

Answer any THREE of the following questions. Question No. 13 is compulsory :
S0oBBI)RYO Wewor Suedd FBNRII e300 13¢ B8 030 smeod :

Discuss the role and responsibilities of a Managerial Economist.
ARFBT BETR BT T3, BN wIowRDINIRY BWE20.

What do you mean by price elasticity of demand? Examine its various types with
suitable diagrams.

3¢5 WeBFOD ,%émaa’ﬁsaaoddem? VBT DG JFONYRY, odeer Bearn i3, ndeodt BDe0.

State and explain the law of supply. What are its exceptions?
RPYFAD DoDLROTTY, BT =020, VBT WTTBRLIR)R)?

Critically examine the law of variable proportions.
WBRNIS JFOI00 ?omooswai% DoTaFZFN 20e320.

Explain the concepts AFC, AVC, AC and MC and calculate them from the data
given below :

AFC, AVC, AC 3>3) MC a’dﬂ@i&i&dﬁ;’o, BINT ©08-1081YoT FoB) HLBOWD !

Output (in units) : 0 1 2 3 4 5
ems&aid(:;.’r’wﬁﬂ@c‘)") :

Total cost (in Rupees) : 100 110 116 130 148 180
umwdzsu(m.m}ez) :

Case-let :

28 TS0 :

® S

Read the following case-let carefully and answer the questions given below :

8 S000T 33 awﬁmws@l 25oriceE3o0T B, FUNT IBrYEy L3020

Samsung company registered the sale of mobile sets during the last 5 years as
followingly :

SoRoN® B0BV0L FIT ¥ IRFNYE Ie00k3 BB SeU e’ 2o S50 B8 FYNT08T :

Year : 2010 2011 2012 2013 2014
IRE
Sales (in crore Rs.) : 40 50 70 90 100

SPoets (80¢. BR.NYY) !
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Questions :
:‘géﬂﬁ@o :

(a) What do you mean by Demand Forecasting?
et SOPOWIRD QowdesO?

(b) Estimate the demand for the years 2015, 2016 and 2017.
2015, 2016 ®nie 20 17 3¢ SRR BeBFODLBY MOT0.

(c) Should the company expand its productive capacity?
FoB o 3T, HTTTD mwwérsmq&%uﬁms?

)
H
t
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B.Com. DEGREE EXAMINATION NOVEMBER 2015.
First Semester
PRINCIPLES OF MANAGEMENT
(Revised)

Time : Three hours Maximum : 80 marks

Attempt all the three sections according to internal choice.

Question No. 13 is compulsory.

SECTION A — (10 x 2 = 20 marks)

1. Answer any TEN of the following in two sentences :
BINSI)NYY Wezorw B3, HTRO mﬁzsm}ém L300 :

()

(e)

8

(2)

(h)

What is Scientific Management?
B350 08 FITTS 0TBeRO?

What is Planning?
adreeses d0uTerd?

What is informal organisation?
®TOD5OT BoP s d0TTeRO?

What do you mean by departmentation?
Q2NeTT H0BTEeRO?

What is Selection?
,%uwoa esodoa 20BTeRO?

What is motivation?

3,05 20BTERO?

What is written communication?
AP3 F0ITE T0TIBB DOWTETOT?

Name any four principles of management.
ASFBES00 adRTe Toew), ssarwmd DI0D.




1100-A51-ISC-R-N-15

(ii  Define co-ordination.
BT 0B 0T, T

() What is delegation of authority?
08500 I8 dodeesd ordesd?

(k) What is budgetary control?
Swon®E I3, V003,00 HoWTeRO?

()  Give the meaning of ‘Espirit De Corps’.
‘ur;\e{d W IVT s JeRd.

SECTION B — (3 x 5 = 15 marks)

Answer any THREE of the following questions :
UARI)NYI Wetar Soedd, uzDAD

- Explain briefly the levels of management.
ASFBEBOL NG BoINYRY, BoFZ TN HTOAD.

What do you mean by functional management?
Fo0IRFIE ASFBE Horderd?

Explain the steps involved in the process of planning.
adeezme T200F B VRTINS G SoIrvEy, HTO0.

Explain the principles of departmentation.
DFNeTTns I3NYRy, HIOD.

Explain the contribution of F.W. Taylor to the management thought.
ISwBSob o3Vl IFRTY 27 BuA,; evD® ¥IC dedrt IIVD.

What is motivation? Explain steps in motivation.
3088 20BBeR? VBBITOS G BoIriedsy, HSOID.
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SECTION C — (3 x 15 = 45 marks)

Answer any THREE questions including Question No. 13, which is compulsory :
Wesor St I3 203020 13d¢ BF vwaody:

(¥ 8}

What is organisation? Explain the various principles of organisation.
03838 D0BTCRO? VWO G ssamag DI020.

Y8

What is decision making? Explain the techniques of decision making.
DEFORIE D0BTERO? Ar0LRDE 303MYRY DSORD.

‘3. What is communication? Explain barriers to effective communication.
3058F BoRBE HoBBER? S0P SOTRTD BoITF ROIBTE, WOIT BRBBONYRY, IS0,

.. Define co-ordination. Explain its importance.
3306{3053 59,309, 0% So3) exo 333335536% D3020.

2. What is direction? Explain its principles and techniques of direction.
eF3T HoWBERL? VTT IINW 3038 303 rYR) HTOAD.

-3, Case Study :
¥ ods FFoe !

In a famous Readymade garments Co., there are more than 600 employees are
engaged in the preparation and marketing of Readymade garments. Even though
reasonable salaries and wages are paid to them but employees are not working
satisfactorily and happily. Their morale is very low. As a personnel manager what
different actions you will take to improve the situation? Explain.

28 euRoRne 30dndze Forie Sw0oks I0BoS ToobFEY, ATITW TG FoINleonTY,
RBTy 6008, BYF Foskodd, FWFFR FOR AFHROZMY. @30t odeer) be3,
BAO0LBY  VERITD B3 FFFR  ¥ZFTANNTD, o308 Hel IyF0  Harie
F030eR o 0LBTNCLTDE, T F38 3 j0dF FIIUPIW. F0N 2200 dSFBTHIRTIOIRA
DD QIRT 0dRT Bedoom B FIFOLRY JOBORLL BFoDIFD H0LOTR HSTZaN
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B.Com. DEGREE EXAMINATION NOVEMBER 2016.
First Semester

M.I.L. - KANNADA
BASIC
(Revised - Old)

Time : Three hours Maximum : 80 marks

PR S0 WOBT E&)BQﬂ N30T RBRROIF)TO.

L. (a) "ag 2 ¢d zped drtad IDID” IITF, ToTYF T modewr wHoBy Berk
“RII0 NPORE? DTOVD. (15)

Zlatnr)

(b) “OZI=odab an3” 3O3009 2 ¢ WEHES FvwRLR) Bert FopBLOBHE? AZ0BFAD.

2. e5n HUBY, 836 B0 (2 x 10 = 20)
(a)  20R> FVBE BoBSOS
(b) 3
(c) wowBedT 50T

{d) maeaaoﬁd:-’%a odn

3. (&) ‘wed QAT 2659050,V 520080 B Beddadn), IBBIB2D. (15)
VPT
(b)  SPTI ADFZ Do®d IDFNW BoFHEY, IS B0BoOB BROZ NG Bert FFmaNS?
D300,

4. 3c5n HOBY, L3368 23000 (2 x 10 = 20)
(a) B3 IVE WIR) woR Oed |
(b)  BEY3 TTBT FoeeS FoNe T3
() =3pedod word IPEd

(d) oB53 BIDTD T,
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5. wodde a‘eﬁzswq,emgb,’oa : (10)

(a)

Bosdos) &S0 WY QdRIO?

23e083,0033 0dn 331 R IHea BBy wobu?

wa&bed B0A0ISCO DO 703 ﬁddzs m&,szs .ﬁ;’%edaid aﬁjmb eqsﬁgosﬁdado? -
B8RV 0TY BT FIF[VY, CURBITL a3RvO?

‘e IR B A 03330 WIE 37

©0de3 830 308ad BRBETO?

oarted ENE B0y 03RS IR0HBE H0.3e°. BB IEBWIT?

TOTTIT T,08 GBVAINT IRF 03RITO?

30%20 IJY IF0NIR7

‘FRBSONPB 28R 0300’ D0T T 033807
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B.Com DEGREE EXAMINATION NOVEMBER 2016.
First Semester
ENGLISH BASIC
(Revised /Old)

Time : Three hours Maximum : 80 marks

Text : Imprints

1.  Answer the following questions in a word, a phrase or a sentence each :
(10 x 1 =10)
(a) What was the master piece of Govind Singh?
(b) Mention the other names of the thief.
(c) How much money was spent for keeping a special guard for the criminal?
(d) How will employment make women less vulnerable?
() Who is the author of the article “Vanishing Animals™?
()  According to Tagore what is meant by dead habits?
(8 What is the occupation of the Speaker’s father in the poem “Tribute to
Papa”?
(h) What is longer than love according to Pablo Neruda?
() Who conquered India?
() What does the commandant take home for his child?

2. Explain with reference to the context of any TWO of the following, choosing
ONE from Prose and ONE from Poetry : (2 x5=10)

“How should I know? Perhaps our ruin”
“Now you'll get paid regularly”

“I give two donkey-claps for greatness
And three for Rani Lakshmibai”

“My heart looks for her, and she is not with me”.

A Registered Letter and its impact on Govind Singh. (1 x 10 = 10)
Or

“Employment brings social change in the life of woman” - Substantiate.
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4, (a) What is the message of the poem “Questions from a Worker Who Reads” {bi
and how is it presented? (1 x10=10)

Or

(b) The poem “Where the Mind is Without Fear” has a universal message -
Justify.

5.  Write short notes on any TWO of the following, choosing ONE from Prose and
ONE from Poetry : (2 x 5=10)

(a) The Prisoner g a
(b) Whipsnade Zoo
(c) The Poet’s father

(d) Belsen’s Camp o
6. (a) Fill in the blanks with appropriate articles : (5x1=29)
() Sumesh is innocent person.
(i) Mr. Rao is University employee.
(iil) Doyoulike ___ last one?
(iv) There was small lock up.
(v) Itiseasytorob____ greedy man.
(b) Fill in the blanks with appropriate prepositions : (5x1=Y9)
(i)  Children are fond sweets.
(i) He is suffering _____ cancer.
(iii) What’stime _______ your watch.
(iv) Rajuisgood _______ English.
(v) Don’t wait him.
7. (a) Rewrite as directed without changing the meaning : (5x1=5)

(1) Bombay is hotter than Calcutta. (Change into Positive degree)

(ii) He is too late to get the ticket. (Remove Too)

(iii) If you tell the truth, I will forgive you. (Use ... Unless)

(iv) As soon as the Sun rose, the fog disappeared. (Use no sooner ... than)

(v) How beautiful the Taj is! (Change into assertive)
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(b) Give Synonyms of the following : (5x1=59)
(i) Fair
(i) Loyal
(iii) Ambition
(iv) Wreck
(v) Wise
' & (a) Tata Motors Ltd., Hyderabad requires the service of a Sales Executive.
Prepare your resume and send it to the General Manager with necessary
details. (1 x5=25)

(b) Expand the idea into a paragraph on any ONE of the following : (1 x 5 = 5)
() Rome is not built in a day

(i) Haste makes waste
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B.Com. DEGREE EXAMINATION NOVEMBER 2016.
First Semester
ADDITIONAL ENGLISH
(Revised/Old)

Time : Three hours Maximum : 80 marks

—

R

Ul

=i

Text : A Doll’s House

Answer the following questions in a word, a phrase or a sentence each.
(10 x 1 =10)

Name Helmer’s family friend.

Who is Nora?

To whom does Nora disclose her secret?

Whose letters changes the attribute of Torvald?
What qualities of Nora do you appreciate as a wife?
Why did Nora do forgery?

How many children did Nora have?

Whenever Torvald addresses Nora, he add as an adjective little’. What does it
mean?

Why did Mrs.Linde come to meet Mr.Torvald?

What made Mrs. Nora to change her mind?

Explain with reference to the context on any TWO of the following. (2x5=10)
(a) Oh, I can’t bear to think about it! I could tear myself to shreds.

(b)  When I lost you, it was as if the ground had slipped away from under my
feet.

() Your husband is going to create a new vacancy, just for me.

(d) And you don’t have to strain your little eyes and work those dainty little
fingers to the bone.

(@) “A Doll’s House” is a problem play. Discuss. (1 x10=10)
Or

(b) Summarise the III Act.




Iv.

VI.
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(a) Compare and contrast Torvald’s & Nora’s characters., (1x10=10
Or
(b)  Brief out Nora’s strengths & weaknesses.
Write short notes on any TWO of the following : (2x5=10
(a) Climax of the play
(b) IOU
(c) Self-realization
(d) Nora at the beginning and at the end
(a) Read the following passage and match the words with their meanings given
below. (10 x 1 = 10
Many governments set an arbitrary retirement age (60/ 65). But some
are physically worn out or mentally exhausted well before they reach this
age. While some believe the set age is reasonable. Others think it should be
more flexible with exemptions for certain workers. In my opinion a fixed
retirement age is actually best for everybody. Because it is the easiest and
fairest arrangement. But I think a tribunal could be established to decide
whether individual workers deserve to receive a pension at an early age.
(1)  Arbitrary (a) moderate
(2) Worn out (b) one freed from
(3) Exhausted ()  unbiased/trustworthy
(4) Reasonable (d) extremely tired
(5) Flexible () board/bench/forum
(6) Exemptions ()  be worthy of
(7) Fairest (8} based on one’s notion/whim
(8) Tribunal (h) retirement amount
(9) Deserve (i)  broken down
(10) Pension (i) easily bent
(b) Write a report on the ‘Power Cut’. (1 x10=10)
(c) Prepare a newspaper headline to save the girl from Dowery Havoc. (1 x 5 = S)
(d) Write a slogan to popularize “English Communication Skill”. (1x5=25)
2
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B.Com. DEGREE EXAMINATION NOVEMBER 2016.

First Semester

C.L. - HINDI
BASIC
(Revised /Old)
Time : Three hours Maximum : 80 marks
Text Books : 1) Te gfofar
2) aiforeer fawgl
3) I}
1. &g g8 ¥l & SR fofRau (10 x 1 = 10)
(@) MY EFURE _ F)
i) JeRE el (i) I™Ig I
(iii) ST TG BHIH!
(b) e ey & FegeR gl
(i) IHEG godT (i) TTOETRRI ey
(it) shfrasgrT
(c) SR T 7 it & gaim o
(i) TR (i) IOMR
(iil) S@r
(d) YTEE IRY A a7 & Pt forgd
§ g () AR
(iii) &=l
(e) TIP3 foY oB 7 P IRAT gl 2l
@) oo (i) @R
(ii) T
0  gEdr &b YT B el o)
() WHGIR (i)  IOUPHAR
(iii) PR PR
1
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(g) weETQd gl @1 57 Ferft o g e
(i) 1902 (i) 1910
(i) 1915
(h) R $HF FEw T 2
(i) SHIR TNEE (i) e
(i) =g A
() o [T TG = @
(i omf & ar (i) omf & foar
(i) omf & 9
G) O™ IEl & oft]
(i)  TofrGTH (i) g
(ili) YoigITRE
(k) T fGdere @1 fRear R gl
(i) T dE (ii) g
(i)  3FTHY A
1) & o oy ok Hafy & SR AT ISl 2
G g (i) AT
(iti) v
(m) HfFIA & TR H _ ™ 9
(i) ool (i) Qguoft
(iii) PporHoft
(n) wERdr T Bt T & for SIS goedR e
@) <ot (i) ImT
(i) R
(o) = Rawr o gmn omen
i) 14 RdsR (i) 26 SR
(iii) 15 7GR
2
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foreet i & weel wfga forRau (3 x 5= 15)
b(.a) TR % e TE o P B aeter 93 93 el R o wwef gu g

(b) Har e o Igs H ¥ ARfl

(c) P 7 BT, a1 eyl Shee R - o & e 2l

(d) gqqsmgﬂawvﬁﬁwﬁ%ﬁvaé@rmﬁwmmm%l

(e) TReTS B IUF B, W I8 aRE IR A T o e i arfs [

0 w9 greR T fEs g & AR | o av Al o a9 g e & g &

feregt qY el & forg IR forRagl (2 x 10 = 20)
(a) SF ST YgE gerl I g 1 Fdeal ! et

(b) IS BT gET &Y AT 8 ?

(c) T P ANCIE @ Fa fera 87

(d)  TEE & TR A B 27

frgi & W g T3 fRal (2 x 10 = 20)

(a) TP TR T 379 T F (mobile) Fad B9 TR §1 IWS T AN gY fgpA
IS BT (Nokia) POt & M 0 T fARIT

(b) oY e R 1 Y R ¥ uer gea I 9 el srawen H €1 Rrerid avd

I TORT BT 3R & A R 93 faRau

(€ o9 Ip-3F @ gF §1 I} G T @ o P g T T R I AT
IR grare & A R 9 faRa

(d) fraTel @) AR g TR g9 eI SR b 09 R @9 o
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7= o argarg Hifvm (15

The Prime Minister of India has newly introduced the programme called ‘Man Kee
Baat’. It gained wide popularity across the nation. The aim of the function is to
touch with burning issues and take suggestions from the people to solve the
problems.

wOU3W Jpor 03 abIAy Bow' d¢ waT HWT BAF F20LFTROBTY, STeBTaIoD
SYTOPABTL. 8 50D BeBuedd wHd w2 0LZNG. BeBBATIT 5008 ZROFNY 50030
20 FedLa)rh B03) BP0 3B IBITWNG. B FIFTIOT VT eBTING.
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B.Com. DEGREE EXAMINATION NOVEMBER 2016.
‘First Semester
MANAGERIAL ECONOMICS (OPTIONAL)
(Revised)

Time : Three hours Maximum : 80 marks

Answer to the sub-questions must be at a single place
Draw diagrams wherever necessary,

Q. No. 13 is Compulsory.

SECTION A - (10 x 2 = 20 marks)

t.  Answer any TEN of the following :
dmo&aﬁ'@ﬁ@cﬁl ievard B3 ajz{lﬁ@?ﬁ HUZ020D :

(a)  CGive the meaning of Managerial Economics.
N FBHEID SlalgeEhia] ecﬁrd@t QeRd.

(b)  What do you mean by Decision Making?
VREOD 3R D8 HorBesy?

(c)  Write the supply function.
-‘fj@dﬁ eaabﬁda—vsabﬁ% 3920,

(d)  Give the meaning of Elasticity of Supply.
Gl %@m@éﬁ%ﬁ eac;drdakg( ReRD.

(e)  State any two reasons for downward sloping demand curve.
WIIVY el# Seadodd QIR Te VB aadeam}&l 3920,

(f) Write the Linear Production Function.

%0Y 66&333@6’ ITTo BRVOROE WS0WD.
(8l  ©=3000-5P. If P=200 , find the value of Q.
Q@ =3000-5P, P =200 WG, ‘OB 550%5@{32??\»&

(h)  What do you mean by fixed factors and variable factors?
2&6 PRIFNYO Fane WBINOS PeonSondesn?




——

- 2097-A41-ISC-R-N-16

(i  State the meaning of Giffen goods.
RTFOFT FOBONY PSR, VRO

() Give the meaning of Real Cost.
agjzs ;stud ezp’rdabq QeRD.

(k) Find out the FC, if TC = 500 and VC = 400.
m%w = 500 B WBOINORN F3 = 400 N 20 IWITY, FoRY HLHROWD.
&3 FX] o ® 23 o,

(] Name the factors of Production.

eURBET DFTMIR) B0,

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
Bezan Baedd IBndr eu30R0

State and explain the features of Managerial Economics.

AIEBH VBETR T ogearwagi 3020,

Describe the determinants of demand.

WeBdod JPor TTMYFT), H3OD.

What is the price elasticity of supply? Find elasticity of supply from the given
data :

(a) Percentage change in Price - 20%

(b) Percentage change in Supply — 30%

FpYFod I ;’},aén—amﬁﬁa; 203TBeR? FYNT Ind3ndod Fpdgad S %333@553(?3% OB
&80 :

(a) WSab BeBE=TO WBLIIH — 20%

(b) Bpdgob 3883 wBLSH ~ 30%

Write a note on the External Economies of Scale.
msﬁ esDET &oswzsqbﬁe} 30030 635093 280D,

2
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What is production function? Estimate the output by using equation, Y = a + bL,
from the given data: a=6, b=5 and L =2, (where ‘L’ is Labour).

PUITT BBIICEH  H0BFeRO? Y =a+bL z’ua:ogddzl WYY, YR AL, B&IRYOT
VI TFODLRY U8 %80 a=6, b=5 ®enw L =2 (‘L' ©or33 Ba).

Explain the implicit cost and explicit cost with an example.

2,000 VTR T 030D 30303 afzsumma waxzs msuma% DT020.

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following. Q. No. 13 which is compulsory :
e 3 ZoR0E, Gu3020. 53, 503 13 5B0TNCOZT

Desci.... the Scope of Managerial Economics.

Rt fors e.%;draaﬂep %m%sododzl (a'%éo.bmd) FaInte)tel

Explain the various methods of measuring Price Elasticity of Demand.

WS BeFodD z,amassasmq g 0lVS G m’doéﬁﬁidzl DIDD.

(&) 2]

State and explain the law of supply with suitable schedule and diagram. Wha:
are its exc  .ons? ’

oifaergs T8 AW Hone Cearnldsdoodr RPYT K)ododo$&3{ QAS020. ¥WT VITBNTIT))?

Explc the law of variable proportions.

WBRINT IS0 z,onsmﬁ D010,

Explain the cost-output relation. Find out FC, VC, AC and MC from the following
data :

52525 NITTD :}ouoc‘s’s&gl 2020, d9rt %Jaégj ©0d-e038nYord FC, VC, AC ®onn MCrgx:>
TOTO HRBOWD :

Output in units : 0O 1 2 3 4 5 6
NFET (0LANYD)

Total cost (in Rupees) :
2y, 303 (C.NYE) : 20 30 36 40 42 60 90
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Case let :

Read the caselet carefully and answer the questions given below :
Sales of the Nagarjuna Fertiliser Company are shown in the table given below :

Year : 7012 2013 2014 2015 2016
Sales (in crores) : 60 70 50 90 100

Questions :

(a) State any two objectives of Demand Forecasting.

(b) Estimate the sales for 2018 and 2020.

() Whatis your suggestion?

23 x)dzszimzd :

238 &déddaaidabd e:ez;igsoj)ai 3508 NS o‘-‘oﬁdﬁ@ﬂ eu3020 :

ToMTET W0 F0=V0DH SR0E IFPYII S St SRBRNT
LU 2012 2013 2014 2015 2016

3300983 (3\&)@3 Os.ned) 60 70 50 90 100
B8R
(a) WeBE mwﬁomﬁﬁ 03B VB md@céﬁ#aﬂi Begd,

(b) 2018 3y 20208¢ 5O 3BT VOTTITS S5080.

() AR ngesy?



16 2100-A51-ISC-R-N-16

-

B.Com. DEGREE EXAMINATION NOVEMBER 2016.
First Semester
Core Paper 1.4 - PRINCIPLES OF MANAGEMENT

(Revised)

ime : Three hours Maximum : 80 marks

* Answer ALL questions subject to internal choice.

Question No. 13 is Compulsory.

SECTION A - (10 x 2 = 20 marks)

Answe: ny TEN of the following in two sentences :
BYATD 1D 23eTar FBY, HTRED m%ﬁ%*e?ﬂmga?qb ;
(a) Define Management.
JeiABIODTY, $53,809, DD
(b} What is planning?
clact® 0WTeaH?
fc]  What is organisation?

3038 HoBTeTo?

(di W at is delegation of authority?
et 5200 3,8 Quicws H0TTeR0?

e]  Vnat is staffing?
0D BEQRIT D DOTWTeR?

. at do vou mean by decision making?

T QBT DoRdes0?




()  What is meant by Communication?

R03FF Bo@es Bowoss Q0BTeTO?

()  What is unity of command?
8WeBNYS 983 S0nBer>?

(k) Define Direction.
&dréaﬂdaﬁg{ 359, DD,
() What is motivation?

B,e0: dordery?

SECTIONB-(3 x5 = 15 marks)

Answer any THREE of the following questions :
BINTI e wezors R0, U300 :

Distinguish between Management and Administration.
BBEII 03 &:3?5?3&1)@1&3 ;&335335% IO,

Bring out the importance of planning,

adeezsad 30635@2{ 3920.

Describe different types of communication.

30TFF F0IBIT NG ﬁm('\fﬁ%f&i% AT00.

What is motivation? Explain the Steps in motivation.

B0 d0mBesd? ¥EBITOT G Sosn'%fc'\ii T2,

State the importance of organisation.

Rogpessadd 33&3(33&2{ TePd.

Explain the principles of departmentation.
ARG ofirtng 3331’%@% Q=020.

2100-A51-ISC-R-N-
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SECTION C - (3 x 15 = 45 marks)

Answer any THREE questions including Question No. 13 which is compulsory :
Wezan Saeto I3t evddad. 13de 33 Fwaod :
) rd ] )

Brieflv explain the various functions of management.

JSRITAD G FoOLF YD) FogH =N IO,

What is planning? Explain the advantages and disadvantages of planning.

03rend 20BTeRO? ¥RET BVBOTLAOI BN eamab&rao:mem% D302,

What is meant by decision making? Explain its characteristics.

22F o 1), 08 20BTERO? BT eFRRYR) SO,

What is co-ordination? Explain the principles of co-ordination.

AT 0 HoEBes>? 33&%0333&3) 337 30

What is Communication? Explain different types of communication.

50838 50T HOWTERO? AAY 50T Bowed ﬁomd:—va“rwdgl D300,

Case Study :

ITO B 0DT :

Mahantesh & Co. of Bangalore is incurring huge losses for the last five years due
to high cost of production and administration. In the face of severe competition
the company has to cut down the cost for its survival. They are referring the

matter to you. Advise the company on the controlling measures to be adopted for
overcoming the above problem.

2)B203¢8 & F0. WorYRDy, TYB DR IRFNYOB B30T HuFITTo HoNe BBIIIIT ;st“ﬁe;
F00MY0R WY HAADLT), VBOPIRZE. 3e3=on FREeES FBIFBO0E Fozdadw evdad
Ye5ud  Tozdodn 3F, IuSW), B3 InRTeY Selesond.  eETHN o[ BRI,
BOFEERO$TIT. 81 FAF BT, oIS Dedad 0B ANWINIT, TRBIFED H02VTTY, HZDLD.
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B.Com. DEGREE EXAMINATION NOVEMBER 2016.
First Semester
BUSINESS ENVIRONMENT
(Revised)

e Three hours Maximum : 80 marks

Answer all questions subject to internal choice.

Question No. 13 is compulsory (Case Study).
SECTION A — (10 x 2 = 20 marks)

Answer any TEN of the following :
Je5ats $3Y, GIDID

{a) What is business environment?
as’ésaﬁmd 20333083807

(b) State any four characteristics of Modern business.
23503 %da‘add 03I WITTR T, ©FnYR), 3920,

(c) Whatis SWOT analysis?
el DB LR HoByeRd?
({d) What is per capita income?

3en 303D HFTCR?

{¢) What is Fiscal Policy?
eaob;ﬁzsabéd Qe8 dorTBeRO?

(fy ~ What is Socialism?
BR50wToD FDD D0BBeRO?

(g) Fxpand:MRTP and SEBI.
23020 : MRTP 303 SEBL

(h) State any four components of socio-cultural environment.
md\mﬁﬁ—mﬁ@éé DOROT Q) TIWTR TN, PeYoLo] ;-’:’&ﬁaoéﬁdag 392,0.

(if  What do you mean by Business Ethics?
FnB009, §,353 Q0TTERO?
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What is Social audit?
I enYat Qﬁ% J0BReREI 0nBeRd?

State any two features of technological environment.
3203 T IORVT 0dnZ)mrBTR HVBO %wﬁvaﬁ% 3930.

What is balance of payment?
00D Wod DOTTERO?

SECTION B — (3 x 5 = 15 marks)

Answer any THREE of the following :
Ie5w FoedY, eu30R0

Explain in brief the social objectives of business.
S, IBIVW TS0 VT eBTIYT) FogToN DIOD.

What are the important objectives of Fiscal Policy of modern Government?
353008 305200 0az53, 13000 dedod mssaw Vi3 e3ned a3 ?

Explain the planning role of the Government.
305200 adeexdod DIZIT), DIOD.

What are the factors responsible for social responsibility of business?
335900 ToB028 BATBROIN DetLs woBnedd 0dnH)=)?

Explain the effects of technology on the people.
303,22, wRT BoedS Vedos & L. 50ondm), D3020.

Discuss the specific benefits of environmental study.
Eiterdelat O5,0LTBOT VPR =, 08eewmRney 030 23820,

SECTION C — (3 x 15 = 45 marks)

Question No. 13 is compulsory and answer any TWO of the remaining questions :
%3 13 gwa0dmeNd. eudnI)rndd Wesern S0y JZNIrt ev3020 :

Explain the macro-environmental factors affecting the business.
SB0T Boedd S0HS) DedoS DZa3T JIOICH eaoa’ri@.}aoig=L D3020.

[xplain economic factors which influence on business environment.
:;:Sdmd 30300 Joeed T VevOT BPFT eosm*r\igl DT,




10.

11.

12.

13.

. 2095-A33-ISC-R-N-16

Discuss the pros and cons of state intervention in business.
%,BBIVRY 3000 BFFeSDOT 81O 3030658 FoNe BOBITONY), WwFAD.

What are the objectives features and obstacles of social audit?
BPUT I8, J0BRFF0L evriedrieh, oFnndd S03) ¥EIBNRYL 0IRF)F)?

What is technology? Explain the economic effects of technology on business.
3032303 0FTERL? 3032w BR0T F[HITW SRPET WeDIWBMY Doy TOTHSNIE),
D300,

Compulsory Question (Case Study) :
v@a0d> I3 (J 5T g 0bF)

rhe 1..ce of petroleum products in the international market have reduced
drusucally during recent two, three years. Over production of crude oil in
America is the main reason for this decline in prices. India being third largest
importer of oil in the world, took the advantages of this situation. It has reduced
inflation rate and has controlled the budgetary deficit. In the light of this, answer
the following :

(a) What is the affect of decline in price of petroleum product on the Indian
econoiny?

(b) Wh. is its affect on transportation of goods in India?

(c) How it affects on automobile industry in India?

PoU38 o JpCBEoDLY FTIB HTR e IRFNFod D0 UL BAS HuoeNT.
w>)c05BY, 319, JoT WwIEE Bows BwINW), AT, FI0D THON. W03 VT & T
Seode @3 BB o uTOEs WeBZNB), IBT Jodeews ILCIBRORE. I
BRBOUTIR), Ao, Fone wicts FeoI0LT) AoLGRTE  abBR RN B
o3 Sadd 6T FBnVrt evdd0

(@) Fo e 2ddoon Pet3n ugr 33 Soedd adnS D0 Vedl?

(b)  U3BY ITBL FereET LoedS 2N3T o W ToA3 0dRS IDHTL VedW?

(€) %03 FeetxT BT HuRFooD Loedd BT Bert F0HR VedUI?
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B.Com. DEGREE EXAMINATION NOVEMBER 2016.
First Semester
Paper I - FINANCIAL ACCOUNTING -1
(Revised)

Time : Three hours Maximum : 80 marks

Answer all questions with the strict observation of inner choice in each Section.
Use of simple calculator is allowed.

Question No. 13 - Case Study analysis is compulsory.
SECTION A — (10 x 2 = 20 marks)

1. Answer any TEN of the following :
ez ®3Y, eu30D :

(a) Why the realisation account is prepared?
SNDeT0 293 ©F 303p0RIT?

(b} Who is an insolvent partner?
B5e93.060 Doe0MmTSoET3 addy?

(c) What is piece meal distribution of cash?
IR 80T JITVE F0WBERO?

(d) State the Garner Vs Murray’s rule.
MTET® Q. 3008, QoLBorIR), 3920.

(e) What do you mean by purchase consideration?
DD IV, H0BTER?

()  State any two objectives of conversion of firm into Ltd. company.
TREVMBF 0L, A0LZ FoBAAIDN BOBF RIS HTBO QT 3B 3920.

(g) What is single entry system of book-keeping?
DT FRRBO ST, zu’dq)é Q0TBeRO?
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(h} How do you calculate credit sales? §+

&G, BPTIBRY, BN F0ED LBOIVIED?

(i) ~ What is Joint Venture?

‘25083 d?jdaad’ O IERO?

) Why the Memorandum Joint Venture Account is prepared?

NS e wokd %a’mdd 203 DB 30153833%@8?

(k) What is Royalty? State the different types of royalties.
‘crazsﬁa’ DOBBERI? DG T[0T oauﬁ&jﬁe}md 3920.

(Il Pass the journal entry in case of irrecoverable short workings.

Bo&B08 FRTZ0D B BNNTEH 0350E Bew TN WB0IVAD?

SECTION B — (3 x 5 = 15 marks)

Answer any THREE of the following :
We50 SunTE, su3D0 :

State the differences between Joint Venture and Partnership.

25083 %dmd S03) ToeMedEobd ob %3%7")”@‘6& 3930,

Arun, Basu and Chetan are partners sharing profits and losses in the ratio of ji
2 :2: 1 respectively. They decided to dissolve the firm and their capital balances

is as follows on the date of dissolution.
Arun - Rs. 60,000, Basu - Rs. 50,000 and Chetan Rs. 20,000

Calculate the excess capital of the partners.

BT, W TN 53T ToLUMTD wogd TFFT, 2 1 2 1 1 oTIFY 330N BOLERY)BIT.
ST TeVMOTODTY IFBFROT JeBRFTIT), 33008 G0 DT0FToR &I woBTY
den, 8 BYNT03I

TOR ~ O, 60,000, w30 - 8. 50,000 Be3s - Bw. 20,000

B0edT VNPT ToeMTT %2330 WOBTIYTT, FOBO HROWY.

2
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Shyam and Ram were partners sharing profits and losses in the ratio of 3 : 2. On
31.12.2012 their Balance Sheet was as under :

Balance Sheet as on 31.12.2012

Liabilities Rs. Assets Rs.
Creditors 15,000 Plant 50,000
Bills Payable 5,000 Stock ' 20,000
Reserves 15,000 Debtors 18,000
Capital Accounts : Less : RDD _ 900 17%100')
Shyam 40,000 Cash at Bank 17,900
Ram 30.000 70,000

1,05,000 1,05,000

The partners sold the business including cash at bank to Praveen Co. Ltd. The
valuation put on the Varlous assets was

Goodwill - Rs. 30 OOO Stock - Rs., 18,000, Plant - Rs. 48,000 and Debtors —
Rs. 17,500. The company issued 8000 shares of Rs. 10 each fully paid and

balance is cash.

Calculate the Purchase consideration.

3%53 303) T mwmdcaﬁdoo (orYA] aa&)ojoabd 3 : 20 gS0nnd, aowéﬁ@%§mmd [Emte]
53 B33 Dweow 31.12.2012 Sord 8 FYNT03W

31.12.201230 el 288

BHTMOFM ow. es3ned OA.

FolG oM 15,000 ™FT 50,000

$.0BIT, BooBrigd 5,000 WomamO 20,000

BIATa LY 15,000 ®mem3cd 18,000

200 (-) : BpoVBIB

ZY 40,000 R030d03T APrisd _ 900 17,100

T30 30,000 70,000 wR05TIF BN 17,900
©1,05,000 1,05,000

3
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TOVMTD> 3Ty SURRIOLR) w7,0589F B> FWITN TJdew JobAZ FoBoD
RROCOST. DG esyriel 3,50 B FUNToS el :

A

AR ~ . 30,000,momew ~ . 18,000, WIS ~ de. 48,000 Frie wermRTY
g, 17,500. Somdobn VBN 33a3RN Te. 108 S Yedod 8000 Bperdd Jecory
R0 BVIE BRTIT, NG GEBEES, deBOLTT. :

DOl DIVYTT), TOBY HBOD.

Ascertain the credit sales from the following particulars :

Rs.
Debtors ason 1.1.2010 30,000
Debtors as on 31.12.2010 45,000
Bills Receivable as on 1.1.2010 15,000
Bills Receivable as on 31.12.2010 18,000
Cash received from Debtors 75,000
Cash received against bills receivable 22,500
Bills Receivable dishonoured 1,500
Bad debts 750
Discount allowed to debtors 750
Sales Returns 3,000
Reserve for doubtful debts 2,000
S 39508 ATTNYOT evdy d)aoaédﬁdgi OB SHBOD :

ow.
BOMOCL 1.1.2010 Cord 30,000
FOMTT 31.12.2010 gord 45,000
&)636& Boolned 1.1.2010 tordd 15,000
wdrs"@& BOoBNY 31.12.2010 oo 18,000
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-N-16
ow.
Intolk
TPOMTO0W B0 75,000
2030 - zodéé& oBdNLoT 23;#62,6 303 22.500
,me:mj
4 Bdﬁﬂsmd ud@ss& Boodkined 1,500
S sud e 750
:
( OO Ded, Rock 750
| S00¢3 IOI 3,000
TOBY O D 2,000

3. Santosh and Mahantesh entered into Joint Venture agreeing to share the profits

and losses in the ratio of 2 : 1. Santosh purchased goods worth Rs. 60,000 and
Mahantesh goods worth Rs. 30,000.. Santosh sold 1/2 of the goods for
Rs. 1,14,000 and paid for carriage Rs. 7,500 and godown rent Rs. 1,500 and
insurance Rs. 3,000. .Mahantesh sold the balance of goods for Rs. 39,000 and
paid for carriage Rs. 3,600, insurance Rs. 1,800 and sundry expenses Rs. 600.

Prepare Memorandum Joint Venture Account.

BodpeR B FoFI03eE BIT wWok3 FIHT IEDIBY, ey TINYRY, 2 : 18 8TIHY,
BOUBAY L0 WwHBTPORTITYC. F0Z0eR BIBL Tw. 60,000 WSod 2080NYR), 00eBITOZYY
03 S0F03e8TITL Tue. 30,000 286503 ITBORYBY, DVEBATITYT. B0ZRERTIT wi) VST
Vg (V2) O@), xoBonYE) de. 1,14,0008, S50080398 &038) rMed weldt 8. 7,500, Reemedds
BN de. 1,500 03y 233 DwOF Bw. 3,000 T33200398. F05203¢800H $v9d ROBONII
Ce. 39,0008, 350003938 303y Med et 8. 3,600, > e de. 1,800 3y 939 DL

G, 600RYR), FBA0IT.

ASeTTD 0ks dzsdmdd 79300>F), 30370020.
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-

A company took a mine on lease for five years for a royalty of Rs. 40 per tonne of
coal raised subject to a minimum rent of Rs. 12,000 per year. The excess of
minimum rent over royalty can be recovered out of the surplus of the next two

years only. The actual royalty itself is payable in the year of strike.

The following is the output for the period of five years :

Years Production
in tonnes
2009 300
2010 800
2011 900
2012 (3 months strike) 400
2013 800

i
Prepare Royalty Payable Chart.

‘@ BoB0DSTL FYFew Nedab®y, 5 IREW rleed wIorP, BBHTOIYT. TR T8 &3
Sk. 40 Sod W), AR, weln B3 SHRe B, Cn. 12,000 BBOIT. T8 IBe 0awRH03 HWIW FIH,
wRBITaLE), F0dT 2 SHFNYH 3508, KA INFW IOVBEY, BTTBICHIH. JVRTE SKRE
RS O'auz,;ddg{ TSI 3BITTO.

793 5 IRENYY evzemdadn 8 TYNT03T

IRE SVERIA
(65°T19)
2009 300
2010 800
2011 - 900
2012 (3 3ori¢ W) 400
2013 800
ComBT £8F0dE), $0350030.
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SECTION C — (3 x 15 = 45 marks)

Question No. 13 is compulsory. Attempt any TWO of the remaining :

38,5035 13 T3NS, I BB 3,5 S0WT, B30

Kavitha, Sunitha and Savitha were partners in a firm sharing profits and losses

in the ratio 5 : 3 : 2. They incurred heavy losses in the last several years and

hence they decided to dissolve the firm on 31.3.2010 on which date the Balance

Sheet was as follows :

Balance Sheet as on 31.3.2010

Liabilities Rs. Assets Rs.
Creditors 1,25,000 Cash in hand 6,500
Bills Payable 50,000 Debtors 25,000
Capital Accounts : Stock 40,000
Kavitha 3.500 Machinery 50,000
Sunitha 2,000 Buildings 60,000
Savitha 1,000 6,500

1,81,500 1,81,500

The assets realised as follows :

1.

2.

3.

4.

Stock realised 40% of the book value
Debtors realised 80% of the book value
Machinery at Rs. 35,000

Building at Rs. 55,000

Unfortunately, all the partners became insolvent and their private estate realised

as follows :

Kavitha — Rs. 1,750, Sunitha — Rs. 1,000 and Savitha - Rs. 250

Show the necessary ledger accounts to close the books of the firm.
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TB, AT ) 3ITD 20T JVMOFODL B0Z0D TLVWITTINGE) BT eyl [oay
('\S*’oo\&;d%t St 3: 20 uamesnd ﬁoﬁﬁﬁ%’%dd&. %0DT BOZITL IRFRYD, 6235 &38)01):'\1.1

BRBOYARTOFBO0W &IC0 Tewnedd ﬁoﬁmobmd AREBD Sorew dmeos 31.3.2010 Tomy
3CRTE AWTT. WO DT0TTOTD S [T o YNT03T !

31.3.20100 opes 333

BRTBMOT axp. esyned o¥0)
Rl ialeN 1,25,000 DIplAY] 6,500
3REIT, BOOBNL 50,000 FOMTTO 25,000
WOBTY 703 : ALETINY 40,000
BIID 3,500 030039, eTTT LTI 50,000
ORI D) 2,000 533 60,000
3930 1,000 6,500

1,81,500 1,81,500
339rie B FYNToZ FrieseartloolsSs :
1. womsd so’ae%esdsa 23T wo’ae%w Besme 40
2. 7o0MeUd Snbesdn 33T IPT desme 80
3. obodncawsens) dwe. 35,000
4. s8REnY 8w, 55,000
BT FIVOT DY, TOWITT Bme? IIHTLFVT. $EBe B[ R03 BANYoT B FYNT0S B
SRPPATHIE
A3 — Ow. 1,750, 0039 — Bwe. 1,000, 33 — Swe. 250

SIVMEDT FH)F T, ¥TZ T WoINYRY, 30¢02D.




D F Mr. Sanganna furnished the following particulars and request you to prepare

]

Final Accounts :

(A)

(B)

Prepare the Trading and Profit and Loss Account for the year ending 31.12.2011

Assets and Liabilities as on :

Capital

Sundry Creditors
Bills Payable

Cash in hand

Bills Receivable
Debtors

Stock

Plant and Machinery
Land and Buildings

Cash transactions during the year :

Receipts :  From Debtors
From Bills Receivable
Payments : Salary
Wages
Bills Payables
Trade Creditors
General expenses

Drawings

Other information :
Discount allowed Rs. 1,000

Discount received Rs. 500.

Provide depreciation on Plant and Machinery at 10%, provide 2% on

debtors for doubtful debts.

and the Balance Sheet as on that date.

9
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1.1.2011 31.12.2011

Rs.
90,000
18,000
10,000

500
12,500
20,000
35,000
20,000
30,000

Rs.
1,00,000
50,000
5,000
7,500
60,000
70,000
4,000
2,500

»

Rs.
20,000
12,500

1,500
17,500
25,000
37,500
20,000
30,000
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. BonesIcO T FINS wod wodnd IIT eRTOZTVT =03 080 WINYEY, U

DT032003YT Lo
(A) 2 Bone BPBMOTNYL Tow ©1.1.2011 31.12.2011
. G, )
WOBTY 90,000 -
FINT 18,000 20,000
. 32BIT, BOORMLL 10,000 12,500
gAY 500 1,500
WO, BOORNL 12,500 17,500
FOOMTT) 20,000 25,000
AREDINS) 35,000 37,500
ATV 3 a0 eSTT 20,000 20,000
PR 0B 6&36363’ 30,000 30,000
(B) SIFRIYT SNBO JBHONE
ow.
%ezi)ériﬁ?o : TOMTO0E SEBRY, 1,00,000
T8, BOORNLOT DBBWY, 50,000
To3neh : How 5,000
3RO 7,500
61.)(3366 BoOBNYO 60,000
aazsma prld]galed) 70,000
EEDARION dz&wﬁeﬁo 4,000
R033, 31c0BR0BT. 2,500

(C) 2338 30&3:
QeRT Spel T, 1,000
?izeﬁa?ud 3l Bs. 500
ad0de,eRBonNY Soedd Beswe 10 Ry, 383Y 3rioWd. B030303T FOBO T B
2 BR),moMmTs Boeed sTOD.

31.12.20118 Badited)s 5;—-;{%‘% oY) B, W93 WS =& Bods) ad»DD.

10
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dsex ! 10. Kiran, Prashanth and Umesh are partners sharing profits and losses in the ratio
of 5: 3 : 2. The following is the Balance Sheet of the firm as on 31.12.2012 when

they dissolve the firm :
Balance Sheet as on 31.12.2012

Liabilities Rs. Assets Rs.

Creditors 60,000 Premises 40,000
! Bills Payable 20,000 Building 40,000
¥. Kiran’s Loan 20,000 Plant & Machinery 60,000
Reserve Fund 20,000 Stock 60,000
i‘ Capitals : Debtors 60,000
l Kiran 90,000 Furniture 20,000
Prashanth 24,000 Motor Car 20,000
Umesh 86,000 Cash in hand 20,000
3,20,000 3,20,000

! It was decided to repay the dues to partners as and when the assets realised. The

‘ details of realisation are as follows :

1-1-2013 - Rs. 60,000
1-3-2013 - Rs. 1,46,000
1-5-2013 - Rs. 94,000

! Prepare the statement showing the distribution of cash.

| 300, BB203 FF) GVRB HLLMWTOR) WST) @z FANYTY 5 : 3 : 28 ¥ROTITY,

! BOWBAHY) T TILVEITTINGT. Doz 31.12.2012 dordd 33, 30:3@0535% JRLFROTTV. 330
BPe08B0R) WS T B FINT03S !

31.12.20120 ¢ped 283

BRTBMNDBRD oR. e e 8.
t AN 60,000 dSe3Breh 40,000
03T, BLIORNE 20,000 BLREND 40,000
3350 30038 To® 20,000 BT B03) 03>0d.,eBF0 N 60,000
008, O 20,000  GOmW 60,000
11




BRFHMOFNY
WOBTY :
300
TZ203

gudoes

ow. esneD
TOOMITTD

90,000 SeBeTTT oried

24,000 S00E39T 0

86,000  ®ncd

3,20,000

2093-A21-ISC-R-N-16

ox.
60,000
20,000
20,000
20,000

3,20,000

DIQVTRTT LRFODTY, 83 SBT3 I women Ho=3 3e300F QB &3 INCIT ITTrIEL B

39NT08S :

1-1-2013 - gx. 60,000
1-3-2013 - 8w, 1,46,000

1-5-2013 - dw. 94,000

B ot edod) 303020.

11. Mr. Sameet of Gadag a professional author of Financial Accounting has entered
into agreement with Popular Publication House, Gadag on 1.1.2009 for
publication and sale of the book. The terms agreed were as under :

1. Royalty payable is 20% on the sales amount of the book, the book is priced

at Rs. 80 per copy.

The author is to be paid the minimum rent of Rs. 50,000 per annum.

Each year’s excess of minimum amount over Royalties earned, is
recoverable out of the surplus royalties of next three years.

The following are the particulars :

Year ending

31.12.2009
31.12.2010
31.12.2011
31.12.2012
31.12.2013

No. of books sold
2000 copies
2800 copies
4500 copies
6000 copies
4000 copies

Prepare the Royalty Account, Author’s Account and Short Workings Account in
the books of Popular Publication House, Gadag.

12
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NSRS 823, HZ0DE F3BC SeDFTIE M. N3 FIT0 BT JTOBT0IE TH)O0 BIFB
R fon wSteodl Bweos 1.1.2009 Somd HFHY Bwess 3y 0wk wIB
SPBEROBCITRT. wIIBH Friey o SN0 :

1. B3 RZse Io0ek3 2363 Ce. 80 fzzdoa oazssaaj) RRT SN0 WSodh BevmEe 20 1W.
2. SeD30n 5K, Wl word IReT 8. 50,000 Boreiesariod)no.

3. 3333 0owzd o3 BB IR, weltabry Bwods 3 IRFNYH Sreew INBIFB.
FITNY IP0E JTT B FINT03:S

FRBRALT IR D900t IRBT
281 Ko

31.12.2009 2000 Saneb

31.12.2010 2800 I3nied

31.12.2011 4500 3,3n<L

31.12.2012 6000 Z3ned

31.12.2013 4000 F&ned

Oo%sR 8393, SedTT a8 S0 3RZo0b 793 0dR) TF)©T SAFeIn® BOF° BN ¥IT RITED
30330020.

Sudeep and Pradeep are independent civil contractors entered into a Joint
Venture and took up a building from Bharat Ltd. Co, for a contract price of
Rs. 5,00,000 payable as Rs. 4,00,000 by cash and Rs. 1,00,000 fully paid equity
shares of the new company. A joint bank account was opened into which Sudeep
paid Rs. 1,25,000 and Pradeep Rs. 75,000. They agreed to share the profits and
losses in the ratio of 2 :1 respectively.

Their transactions were as follows :

Particulars Rs.
Wages paid 1,50,000
Purchase of materials 3,50,000
Materials supplied by Sudeep 25,000
Materials supplied by Pradeep 20,000
Architect fees paid by Sudeep 10,000

The contract was completed and the price was duly received. The Joint Venture
was closed by Sudeep taking up all the equity shares of the company at an
agreed value of Rs. 80,000 and Pradeep taking up the stock of materials for
Rs. 15,000.

Prepare the Joint Venture Account, Joint Bank Account and Co-Venturers
Account.

13




rﬁr—+—

13.

2093-A21-ISC-R-N-16

hes DoF RS 3303, rodrtoedoeNa) 37208 AabZ FoZVod TRES rodriadydy, wotd
FSB0BY, IEBTHTYT. rodrtody WS B, 5,00,000 neandy, dwe. 4,00,000 sncs
dward dw. 1,00,000 ROSDPOE TSI 50@’&)01) m;ﬁaaaﬁzs Beoone S0830030 msasoaﬁd!
2,000 oé3 z:r%oﬁ a:\aéogbazt 3601303&3%, zi)aea‘ ¥3B0 Bw. 1,25,000 ) IDexq w0y
Bwe. 75,000 nesy desedodon QEITOTYT.  WSTON eyl HANYTY, 2 ¢ 1 TSIt

BoUBRY L ABFOAT) 3T S0 I 6’7 FINT03T

D=Tre G
To382@ 5D 1,50,000
Aosorty DOED 3,50,000
ROBEBII BPYAT AT 25,000
3 DeB0STH FPYAS FTBoTIEd 20,000
:)m?sﬁﬁd e ToI33eTT L NCITIV0T 10,000

rodrcdn BRHERAOBR) G0 SS0LRY AEFOTLINGE.  RBEITIDO FoZHOL TR
Bedoriedy, waftab W de. 80,000 bR BVEITSITO  ABPE  ICB FTONNTSY,
gua. 15,000 20 zot3 F@HooNemy, 30053 abriAdAwth.

25083 :%ssmd a3, %3083 mzsoas 2593 TN D ;;ssmam: maa’abmd 303»020.

Case Study (Compulsory) :

Chand and Co. Ltd. was formed to take over the partnership business of Madhu
and Nagesh who share the profits and losses in the ratio 2 : 1. The Balance Sheet
of the firm was as under :

Balance Sheet

Liabilities Rs. Assets Rs.
Creditors 41,600 Goodwill 16,000
Bills Payable 16,000 Buildings 80,000
Loan from Mrs. Madhu 6,400 Machinery 41,200
Capital Accounts : Stock 48,000

Madhu 1,22,000 Debtors 58,000
Nagesh 86,000 Investments 9,600
Cash at Bank 19,200
2,72,000 2,72,000

14
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The company agreed to take over the assets at book values except the building
and stock which are to be taken over at Rs. 90,000 and Rs. 40,000 respectively.
The investments are retained by the firm and sold for Rs. 8,400. They also
discharged the loan of Mrs. Madhu. The company takes over the remaining

liabilities. The value of goodwill is fixed at Rs. 57,600.

The purchase consideration is discharged by the issue of 20,000 equity shares of

Rs. 10 each as fully paid and the balance in cash.
You are required to
(a) Prepare the necessary ledger accounts to close books of the firm.

(b) Advise the partners whether the objectives of conversion into Ltd. company

are fulfilled.
ZF0 e g obd (FEad)
S5 o3 Deries0=0 ErlIblariels mqsms&zt 3nvoBeY e 25200 306 BOJQ Q0LAI

P BTAIEE. S50 Fod) THEBOIH v Rk TAFRY 2 ¢ 10 BRI F0rsew 3.

AE0 DM Fo30d WS SIT S FINT03T :

BEos BT

BOTHMOFAD Ss. 27180 ..
ErloateN) 41,600 ROTIDD 16,000
BRTE3T, BOORNU 16,000 TR 80,000
o0 5%01)258063 IB® O 6,400 0303,0,e5FT LN 41,200
WOTY 33NYY ! 0B WIRYT 48,000
NI Y 1,22,000  @eoMeod) 58,000
oartes 86,000 BRBENY 9,600
39,03BY 0D srdd 19,200
_2,72,000 2,72,000

15
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sozdod THR I RTD BomEONYR)  BTDTBY Qe BANYR), DIFT 30,
3raLRY e wTIZT ) FEE 3y ¥TR DRRYRONY®Y, Be. 90,000 3033 Twe. 40,0004
50N 3t eols. mazeodow% TVMOT :ioﬁmabo VLT R0BY T, 8,400%; :uaoa»;
SoBeRNE. ¥E003 8IT 0T B30I OIS, BHBIROINYRY, To33Re
WHBOTT. RTIZOT SPYIIY, . 57 ;6003 ANdD SBRPAT.

2D0ed z\‘jdodomol 20,000 mdoaags 3e0oney Cw. 100 JpdF Someobrieomod Horia
QQ@&UQQ snoen 'as?jc;ir SRBeRAT ;

(a) Seewmds 3025’@033 @§5r§?§mz{ ROLEIgVOL/ATON) L Rle by WINIT, 2 ISBRO.

(b) TeeLMdF 50:-5(;0@@L Q0D FoBA0HO) BOIZFIRAPROT)ET usedned ssdedd wr,
SVMITONR 3B AeBIIT.
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‘ B.Com. DEGREE EXAMINATION NOVEMBER 2017.
First Semester
M.I.L. - KANNADA
BASIC
(Revised — New Syllabus)

Time : Three hours Maximum : 80 marks

Text : s0@ 595 FoFow SOX) SO TP To5OV

o 303 wIBE BoBt AT BRTBRNRIZT.

1. (a) =IFHS IBrYd oA SV VAR U 0030 2wB00. (15)
P
(b) =303, W s8odbniy & Be8rd, BEesdy HowTRY ‘me{ée@d mﬁa’o@ 5 323 e

TROIBBRZU? JSDD.
2. BYNSH)NYE cdnFde SOBRY, 3003 ZoTYF &3 3020 : (2 x 5= 10)
(@) Fpesod S Sud Sl
(b) &z 83akeenodnsd dBort EJERDIALY
() Swene’ sEE STRED

(d) w3y dedocsod 3008 BRVTO)T 0T

3. 39N clnp)ce 0B, B0 E3Tes w0V : (2 x 5= 10)
(a) sOTRLR 0D MOF WY
(b) %o BB
(c) o B
(d)  Berted 33 BRoF

4. (a) B3IV oL TPORIIME SROPSNYR), 30> H3020. (15)

[Clatnr)

(b) BABAT rPTJVI soesad> RRoF0dRY Bert w3087 HT0D.
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INTIHNY cdnI)tle HOWT FoBIe 3863 OO :

(a)
(b)
()
(d)

R0 Vg, IRt 303 SeBesesd, 2omd 3009 ©83 3003.
DO, FYER0BED Bom, 2.91100T0 2308 esp B3T3,
o) 1id3 wods, 1T D deedyeadesd?

3T 01 ifJacidfe)ﬁa& 30T S, g,0d00n 307 803 BeYe) AT?

FYNT adoF)de DB, 3003 £3589 wB0D :

(a)
(b)
()
(d)

ﬂbzr,ag3
BO0. é:)edz;fqaw
eocsnwau; Fgad 303,

obhBF03 Bee

3N BB wodde o8BS eugd2d :

()
(b)
()
(d)
(e)
(f)

0L3RCPTT 300 0d5TH?

30D o T3, 03RFHRO?

30807, oI, WOBZTT0?

o500 zsqp N2 TS er?

‘BTOR BTRF - A adng 3,37

S9H0DTC iR 33 R FHeB IBY 0PAS?
‘DoeID ey B FF DR WEBI0T?
BOBITOI FF0h T0T AdRTH?

ERENS rPoR) TSTAm) Bert?

S0 T’ ~ B0 odT 37

| |

(2x5=1

(2x5-=

(1x10=]
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
First Semester
ENGLISH BASIC
(Revised - New Syllabus)

Time : Three hours Maximum : 80 marks

Text : Life and Learning

1.  Answer the following questions in a word, a phrase or a sentence each :

(10 x 1 = 10)

(a) Who is the author of the essay ‘No Man is an Island’?

(b) When did the narrator of the story ‘Eyes are not Here’ learn that his
co-passenger was blind?

(¢) What is the name of Kabuliwallah?

(d) What was Mini’s false fear?

(e) Name any two punishments given to the Culprits at school in Kenya.

() Name the writer of the poem ‘Sonnet 130’

(g What season reminds Robert Frost of mending the wall?

(h) Who is the poet of ‘Dover Beach™?

(i) Why is Miss. Pushpa going abroad?

() What is the context of the poem ‘Goodbye Party’ for Miss. Pushpa T.S?

2. Explain with reference to the context any TWO of the following, choosing one
from Prose and one from Poetry : (2 x5=10)
(a) Each nation, it has been said, gets the kind of government it deserves.

(b) I was unable to tell what the girl looked like; but I knew she wore slippers
from the way they slapped against her heals.

(c) And yet, by heaven, I think my love as rare
As any she belied with false compare.

(d) | And we are here as on a darkling plain

Swept with confused alarms of struggle and flight,
Where ignorant armies clash by night.




(b)

(a)

(b)
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-

Discuss a world federation as an alternative to existing governments, based
on what Minoo Misani says. (1 x 10 = 10)

Or

The author shows how a child’s life is related to his or her own background,
culture and environment. Explain this through your reading of the essay
“from Decolonising the Mind’.

The poem ‘Mending Wall’ has a philosophy of brotherhood and tolerance.
Justify. (1 x 10 =10)

Or

Discuss Nissim Ezekiel’s use of irony in ‘Goodbye Party for Miss. Pushpa
T.S..

Fill in the blanks with appropriate articles : (5x1=295)

(i) There was army of monkeys near the temple of
Hanuman.

(ii) Thisis unique method of studying Accountancy.

(iti) rich are not always happy.

(iv) I think him to be ordinary fellow.

(v) sun shines by day.

Fill in the blanks with appropriate prepositions : (5x1=5)

(i  He is greatly devoted me.

(ii) He sat the shade of a tree.

(iii) She disposed all her furniture.

(iv) I cannot agree you in this matter.

(v) Deepali arrived the station just in time.

Fill in the blanks with the correct form of the verb given in the brackets :

(10 x 1 = 10)
When I first (meet) him, he was studying.
Do you always (dream) at night?
I (to be) happy to see you in our midst at this time.
Will you (have) lunch with me on Monday?
2

(f
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(v) Clive (found) the British Empire in India.

(vij Rama (expect) me to return tomorrow.

(vii) At which time (do) he go out for a walk.

(viii) My brother and I (to be) here to welcome you.

(ix) Each of the offenders (have) to be punished.

(x) The number of boys whom he counted (to be) actually forty-
nine.

Each of the following sentences is divided into three parts (a, b and c) one of
which contains an error. Select the error and mark the part as the answer :
(10 x 1 =10)

(i)  The police were (a) / on the alert (b} / to see that nothing goes wrong. (c)

(ii) The fireman could not (a) / succeed in rescuing the (b) / child although
they could put out the fire. (c)

(ii1) The public (a) / are deadly against (b) / the imposition of any punitive
tax. (c)

(iv) The manager of this bank (a) / is a close friend (b) / of me. (c)

(v) The policeman started (a) / firing the crowd (b) / when the striking workers
got violent. ()

(vi) Children often (a) / quarrel on (b) / petty issues.(c)

(vii) Elections to the American (a) / president take place (b) / every fourth year
in November. (c)

(viii) Guru Ram Das was (a) / the fourth Guru of the Sikhs (b) / between 1674 to
1681. (c)

(x) The two brothers have never been (a) / on good terms (b) / to each other.(c)
(x) Alexander was (a) / the first European invasion (b) / to set foot on the
Indian soil. (c)
(a) Write synonyms for the following words : (5x1=25)
(i)  Absolute
(ii) Confess
(iii) Dynamic
(tv) Gentle

(v) Infinite




L ¢ 2

(b)

Give antonyms of the following words :

(@)

(i)
(i)
(iv)

)

Sharp
Host
Ignorance
Lend

Sour

7082-A01-ISC-R/O-N-

(5x1=
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
First Semester
ADDITIONAL ENGLISH
(Revised — New Syllabus)

Time : Three hours Maximum : 80 marks

L.

(10 x 1 =10)
(a) Who said this ‘A good book is a precious life blood of a master-spirit....”?
(b) What does the author defend in his essay ‘Book™
(c) Who is Sir Roger de Coverley?
(d) Which is the favourite maxim of Sir Andrew Freeport?
() Who is the author of The Man in Black™?
(ff What did the Man in Black give to the beggar who was an old man?
(g) What are the provisions made for the poor in the ‘Parish-house’™?
(h) Where did grandmother Field live?
(i What was grandmother Field known for in her youth?
() According to R.L. Stevensor where could one be sent for speaking like a
fool?
II.  Explain with reference to the context any TWO of the following : (2x5=10)
(@ ...... a good book is the precious life blood of a master spirit, embalmed and
treasured upon purpose to a life beyond life.
(b) I must not omit that Sir Roger is a Justice of the Quorum .....
(c) I have known him profess himself a man-hater, while his cheek was glowing
with compassion.
(d) ... here Alice’s little right foot played an involuntary movement.
Il. (a) Bring out Milton’s thoughts in favour of freedom of Expression with
reference to ‘Books’.
Or
(b) Write a character sketch of Sir Roger de Coverely. (1 x10=10)
1

Text : Selected Essays

" Answer the following questions in a word, a phrase or a sentence each :




V. (a)

(b)
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The Man in Black is a compassionate human being. Explain.
Or

Describe ‘Dream Children’ as an autobiographical essay. (1 x10=10)

V.  Write short notes on any TWO of the following : (2 x5 =10)

()
(b)

(©
(d)

VL. (A)

(B)

(€)

Captain Sentry
Sailor with the wooden leg
Grandmother Field

Stevenson’s opinion on Education

Read the following passage and match the underlined words with their
meanings : (10 x 1 = 10)

Books are, by far, the most lasting product of human effort. Temples
crumble into ruin, pictures and statues decay, but books survive. Time
does not destroy the great thoughts which are as fresh today as when they
first passed through the author’s mind.

A B
lasting - stone figure
effort - wreckage
crumble - labour
ruin — degenerate

statues - enduring

decay - ideas

survive - decompose
destroy — continue to exist
thoughts
passed through

originated
kill

Prepare a newspaper headline for the following : (1x5=

Prime Minister Narendra Modi on Sunday dedicated the ambitious Sard
Sarovar Dam on Narmada river to the nation by announcing the completi
of the project at Kevadia colony in South Gujarat.

Write a slogan to promote aforestation. (1 x5=

VII. Write a report on the inaugural function of the N.S.S. activities of your college.

(1x10=




7087-A06-ISC-R/0O-N-17

B.Com. DEGREE EXAMINATION NOVEMBER 2017.
First Semester
C.L. - HINDI
BASIC
(Revised ~ New Syllabus)

Time : Three hours Maximum : 80 marks

Text Books : 1) TeJ [55

2) T fogt
3) sgqrc
1. fFdf g ueTl & SR HIBF P AR R RIRau) (10)
(a) UIGUHA & STTER TEID B #
i 88U (i 1093
(i) 15 93
(b) FaMfdoa@d AR B
G o= (i) PIAIR
(ii) DEEg
(c) Teremrer 91g @ IR 2|
@ (i) T
(iii) foem
(d) BRI AR B YIS BT AW 2l
(i) e (i) WIAIRM &1 g
(i) €=
(e) e Fepy o Haferd 1
i wEfEl (i) e, Py ik G
(ii) ey
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® FIRG______ USHUAL
(i) T SR A (i) WIRM @ S
(il) AT BT TR

(g) o A g B UIS P AH 21
() g & @Ry (i)
(i) e

h REIfRew__ @ =R o gl
() 24 I ) 14 R
(ii) 4 3PN

@) R & fafy 21
() <ETN ()
(iii) SIS

G sR__ e @ 9 g
@) e (i) gfere
(iii) T

k) eI doEd_ Bl
() uEEg () =ewdr gaf
(iii) 3RBIA

() MTRE & AT 7 el 2
() g N e (i) eI
(i) TRND

(m) &I Y & UPIeE @ A . 1
(@)  amft geee (i) IR HpTeE
(iii) 3ol UHIIH
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(n) oifafisa § aad o T dey Yugs H [AT FRA BT [T U
gl
@) 14 %R () 87N
(i) 10 #EH
(0) VIR F =R a8 AR forar s g 1
(i) RT3 (i) BT
(i) T
=t o SRl @1 Wiy g eref faRau) (15)

(@)
(b)
()
(d)

(e)

IR, T A FE ford I B ? TV Jra ¢ & T ?
I g 3R I A S IW dted ek iR ot § fyer S
g9 e 78 A1tV gR NARM & IR § $B YPAs IRl 2

epher Aifged &1 9 iR ey @fadl g1 s I8 BieT 1 AFRR 38 ges
2!

T G Bl UeaR H 7 I QT 1o H1gT B Iy ey wgs & Jfehed W 3Iffa
fr

gl @ weal & forg IR R (20)

(a)
(b)
(©)
(d)

(e)

I3 Q) aifdrey g frRag) (20)
(a)
(b)
(c)
(d)

Gfh-Ar, FHEF § GD B I WE HRT |
AARM &1 S’ & eh Mfdfes T 3t aeh Hifdrg)
i & ol wereet At & aR @ Hifvl

freft sk St a1 Herr e

o ¥ @h gAN g Radt & Rl @) s SR

A & T AT G T 7T P I iR BUS B AR B U 9 frRayl
T AT g7 HORM 308 554 (PUS F AR & T @ uF faRkgu)

TR U & forg Rt vt @t o g i farRaw)

P & T IRad &t gaar @ aRow faRe

3
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et § argarg HRTI (15)

On the evening of January 30, 1948 a little old man was slowly crossing the
courtyard of his home, on his way to prayers. Suddenly the sound of four gun
shots was heard and the man fell to the ground. The life story of this little old
and very great man Mahatma Gandhi is one which every one should know.
Mohandas Karamchand Gandhi was born in Porebander in Gujarat on October
2, 1869.

1948, %830 300 3200005208 3300 3&2{ Sodobonedor ToPrme FPod sEMN wond 2366
S8 e IPTTN FNGY . woBRBY e Toe, RI0Bd B0 ¥adosT B Fed WOTBTH .
& 23 BUTTYE). 7R 88, S0 ZeS - TR 33 So%e3 MoPeSodIT Bes TG, AT,
DoBQTR v meN ©d30Scsesy. SpcBBwR FoR0Wow M0R. MOWTIST RPCTOBTTY,

e&aﬁewc‘ 2, 1869 0ot HRATTL.

[y




7096-A33-ISC-R-N-17

B.Com. DEGREE EXAMINATION NOVEMBER 2017.

Time : Three hours

First Semester
BUSINESS ENVIRONMENT
(Revised)

Maximum : 80 marks

Answer all questions subject to internal choice.

Question No. 13 is compulsory (Case Study).

SECTION A - (10 x 2 = 20 marks)

1. Answer any TEN of the following :
We5or B3Y, 63020

()

What is environment?

SO3T dorBesL?

What is environmental analysis?
BT HF RS 0TBeRO?

What is meant by monetary policy?
B TR VeS8 0TI CRO?

What is capitalism?
WOBHIYT& 33 20nYerd?

Give two objectives of SEBI.
SEBIad o0& VT EBNYRY BHBD.

What is legal environment?
FRAR JOIT HorTexn?

Expand the following :

8 BINSH)neat) 3020 :
() MNC
(i) SEZ
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(h) Who are the stakeholders in business?
FSH0BOFT w3, 7adriey 037TH?

(i)  Give the meaning of Culture.
307,303 WBFEIT), (Ale{e\ble}

() State any two dangers of LPG.
LPGod o880 &Bmo:i.)rvvc*\i%t 3¢92,0.

(k) What is meant by technology?
390883 HOBTERO?

() What is E-Business?
Q- TBHT D0BYERO?
SECTION B - (3 x 5 = 15 marks)
Answer any THREE of the following :

23e590 :b.radi% 3020

Explain in brief any five characteristics of modern business.
S5O dzsdsadd 000 ogsaﬁe:ab« QT02D.

Explain the effects of demographic environment on business.

zﬁédaadm’ B0eds wweoNeod IOV BOHTOITY, HSVD.

Bring out any five objectives of industrial policy of 1956.
195630 &mdse dedod 0w BuT eBRYRY, HZ0D.

Explain in brief the economic roles of government with reference to business.

BOBI0T SRFT TP, 30BN 0.

What are the unethical practices undertaken by business?

3BE0 FT0UYT U8 BROTLIRRI)?

Write a note on management of technology.

303250 % I IB0D L35S WSAWD.
=z J B @
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12.
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SECTION C - (3 x 15 = 45 marks)

Question No. 13 is compulsory and any TWO of the remaining :

33 13 ow03050Nd. SuIBHNYA, Wevor HTBL BRIt eu3dAD.

What is meant by internal environment? What are the various factors of internal
environment that influence modern business?

30307 HOXT 20BTeRH? SRHI0T Soed BOPR0 DeTIS G 30308 08N 030))?

What are the economic policy reforms undertaken by New Economic Policy,
1991.

19910 3038 sirs pedaidw $m®3@oz§ TR3T 8T BOTIOBNYIT)N)?

What is political environment? Explain its components and their impact on
business.

To%te0d) TOIT 0BTER? BT e35008NYRR)? 03 &N [HITT BoeeS DedoS
203 D30

Critically evaluate arguments for and against the social responsibility of
business.

S[BOE FoBNET 20w 00D FT FINe VR TR, IZ0Be2.

What is LPG? Explain arguments for and against LPG.
LPG »0B38es0? 9530 JI0 &ane DBREFRIR), 3020

Compulsory question (Case-study) :

Technology is one of the macro environmental factors that decide the destiny of
business. It helps business to increase its productivity, profitability and
performance. It also brings radical-transformation in society. Thus, introduction
of technology brings changes in the social and economic structure of the society.
In the light of this, answer the following :

(a) What are the effects of technology on the economy?
(b) What are the effects of technology on the society?

(c) What are the effects of technology on the women?
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s@0db I3 (F300 BFobv) :
30325983) FSH08 Cont PIF, CRIRT W BOITT oBIF FeITING. YD JSH2
B030 BB, WwIEN DI VT JIPE FuLL IFID INBIF DI IZNET
NTeBERE JOSIFS 3003B. ¢BD0B, 03T VISBIIL ToRE eRrT IS
FOBRT 28N8 SR ob, WBLITT ITLIW. B LY, TYNT JFIrt evIOD:

() 303z uBFE 3T Boedd Dedis BOTONVIH)?
(b)  S03zPD) FBPHS Boee Det>T BOTIRNTIZD)?

(c) 303PR) Do&FodT oS Vedo BOHBISONCIR)?
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.

First Semester
Paper 1.4 - PRINCIPLES OF MANAGEMENT
(Revised)

Time : Three hours Maximum : 80 marks
Answer ALL questions subject to internal choice.
Question No. 13 is compulsory.

SECTION A - (10 x 2 = 20 marks)

1. Answer any TEN of the following :
INBI)NYY Wezon B3, HuZOR0

(a) What is Scientific Management?

:%ua&)ﬁ DITIS 208307
o F)) ®

(b) What do you mean by Financial Planning?
BTV 0IRCHR HoBBeDO?

(¢) What is Time Study?
300D G H0TWTBERO?

(d) What is Scalar Chain?
Bee3e3 3 ¥RTIT 303 HoBTeRO?

() Write the meaning of ‘Span of Control’.
003, % Do &Es 30O,

(ff  Define the term ‘Departmentation’.
QPaNesT R ;5%9% 380,

(g What are Planning Premises™
odpeaiold ewkbeatn Hordesy?

(h) Give the meaning of ‘Supervision’.
&eéﬁmda’ 203 uPF SHRD.
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(i)  What is Upward communication?
Soeend BoTFE-FoeS 302308 Q0BT eROT7

() Define ‘Morale’.
8,38 3 Q,o:brd a3 w300.

(k) What is meant by ‘Recruitment’
2100 B3 0BTeRO?

(] Expand the following :

FNTHrUR) 302 WD :
@ MBO
(i) ZBB

SECTION B - (3 x 5 = 15 marks)
Answer any THREE of the following :

BUNTR)NYS), 2ears SATE, QUZDD :

2. What is Top Level Management? What are its functions.
abee&dd szsd.u—ama)‘ai 20BTeRO? VWO oMY 03)R)?

3. Distinguish between Formal and Informal Organisation.

B315208 03 8TPZw0T JopeiNned SBOAT ©0301¢R), WT0D.

4, Bring out and explain the various techniques of Decision Making.

Dear VROAFOD DG 303 NYBY, 392, IO

5. Define co-ordination and describe its features.

;‘3?)0(\‘3‘50333033 EORS B, VIC oS, DROA0.

6. Explain Maslow’s Theory of Motivation.
IRte¢ BST BeoTsod 209 03BT), DF0A.

7.  Briefly explain any five objectives of Management.

%dm@ﬁz&o:o 03093)TWETLe DTV emdmea’rie}aigl Fainte )}




10.

11.

12.

13.
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SECTION C - (3 x 15 = 45 marks)

Answer any THREE questions including Question No. 13 is compulsory :

Wesr Foetd IBNYR ev3d0. 133 I swaody :
2 r A )

Define Management and describe any seven principles of Management.

%dm@a’ﬁob mzsa% %Jae;b“ , 800 0 WIWTR D 33;1@5% Sede2D.

Explain the steps involved in the process of planning.

035m0 TR DT sosrw@L AN0D.

What is communication? Explain any six barriers to communication.

R0JFF-R0T3e3 FowTFH oD zbazsa% 3P, BTT 00F)WIBTR T vc@Sdﬁ@ﬁz{ Q3020.

Define Organisation and bring out its importance.

Boeidod Sya) Betd), BTT TyB0AIDY, 8920.

Examine the essentials of Effective Control System.

JDHeSTO A0d03 %dz‘i oD 833 FINYRY 30eEJD.
=) 3} o ok

Case Study (Compulsory) :

3T 85 obT (TBOD) :

Bajaj Company Ltd. has invited applications to fill 100 clerical posts. As an HR
Manager, what steps do you follow in selecting the right candidates?

W FoBA0IL 100 5 &)d@d mﬁrﬁ@émd esm&&?qd. PAWOTN msm@ow ©RT00N e)
odoess ol 03N, TOOY odwery VY DENIR, P36 SPRODD?
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
First Semester
Paper I - FINANCIAL ACCOUNTING -1
(Revised)

Time : Three hours Maximum : 80 marks

Attempt all Sections according to internal choice.

Use of simple and programmable calculator is allowed.
SECTION A — (10 x 2 = 20 marks)

Answer any TEN of the following :
WSe5on #3Y, U300

Mention the methods of piecemeal distribution of cash.
SRR g8 IV FFSRIRY, WBAWD.

What are the accounting balances recorded in the deficiency account?
QU 0dRS Wwedny Seunvs) 3003 We30hd) BI3eBReRRIZH?

What is the order (priority) of distribution of cash as and when cash
received?

05T - R SRBY WORTIP), 0N 8B INYO IV SRBRRIZHTO?

What is the net asset method of calculation of purchase consideration?
OS¢ e IT 30D gR0B WS, F0BY HBIVFTO HoBBesd?

Pass the journal entry for settlement of purchase consideration paying by
shares, debentures and cash.

DR FIIPQTTY, Bedoney, Br3oddorieh Hone SR CRITTY VeI F0WoRIT Seense
DS, 30D.

What are the types of single entry system?
DT BI0NT BB 300> BFoONL 0dbwHY?

State any two merits of single entry system.
0% TIed SFad 20B> 3 0deewBRYR), wBoWD.

Write any two distinctions between partnérship and joint venture business.
HEVMROT H0X TN WOk TBAINT [HTNY BBOAT Weword 2B FIYRNITY,
W30O.
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() Who is Lessee/Tenant?
wBRm0 / teedtsod 0BV adzTO?

() What is mining royalty?
nes oazsﬁaaoddem?

(k) How is the minimum rent calculated in the event of strike?
SR eI BN FOF, WoB0dRY, 0353 Ded Fowd SBODLOINORHEO?

() Why the realisation account is prepared?
Snifestn wedobR), H3TYN J0dPORITYTB?

SECTION B — (3 x 5 = 15 marks)
Answer any THREE of the following :
3SNTINID, Wezor Foe0Y, su3dd0

A, B and C were three partners who divided the profits and losses equally. (
the dissolution of their firm the Balance Sheet stood as under :

Liabilities Rs. Assets Rs.
A’s capital 45,000 Cash 37,500
B’s capital 7,500 Profit & Loss A/c 9,000
Reserve Fund 24,000 C’s capital 15,000
Realisation loss 15,000
76,500 76,500

C become insolvent. Calculate capital ratio of solvent partner.

D, D B0 » TOLTVUINR), SozI-FANYR), FoToN B0owBAY),TT. I3 BoF IRVFRR
S 3YNT03 BIT Eas S8 QLI :

BHBOBrD oA, eyried S,
'S wodsy 45,000 S 37,500
‘DS woB=e% 7,500 oyl o3 af-’u\“asaé 9,000
04, B 24,000 VT woEmY 15,000

JrwEdob Fod 15,000
76,500 76,500

‘2 [ILVTITD ame?oimhmaas. DL 0inNE TG00 WoBRSY w\bmz.idai% FoBO SR




7094-A21-ISC-R-N-17

P, Q and R are partners sharing profits and losses in the ratio of 4 : 2 : 1
respectively. They decided to dissolved their firm whom their capital balances

stood as follows :

P -%60,000; Q-%¥32,000 and R-% 26,000

and reserve fund was ¥ 21,000.

Find out surplus capital.

P, Q 203 R 9300 32e0we00eNmed. ooy 303y Hdobd) osogsomen 4 @ 2 : 13
FBR0EA, F0wEAY AT, IX) wormedneh 8 FYNT03wart BT IBY TeVMDT F0% 0B,

DRBEREV APFOIWIT
P - 8. 60,000; Q - 8xw. 32,000 303y R - dw. 26,000
3038 T2, B0 Bwe. 21,000 1303E.

B30 WoBY FOBO LBODD.

Akash Co. Ltd. was formed to takeover the business of a partnership firm in

consideration of following :
(a) To issue 2000, 12% Debentures of ¥ 100 each

(b) To issue 5000, equity shares of the face value of ¥ 100 each at a discount of
¥ 10 each (per share)

(¢) To pay costs of % 3,50,000

Compute purchase consideration.

& 391 ©355° II0RNWT BS Toenmedse ToRodd %aﬁa&)dda& DOeRY e3595° Fo. c‘).aiqi

@
m@&;:u’oahd :

(@) 2000, 12% &loe3one @,3ad00038, Se. 100 Tod Aerdo)mon

(b) 5000, =183 Beconds) Se. 10038 SweSodeodrt B3 3ed8 Roed Bo. 10 38D
(Dodmad) WS Qeroswon

(c) Tw. 3,50,000 Srcd B AeBIF)@N

AWT T,5T DO ﬁdabai% OB &HBOD.
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Mr. Arun kept his books under single entry system on 1.1.2016 his assets and

liabilities are as follows :

Land
Machinery
Stock

Debtors

Bills Receivable
Cash

Creditors

Bank overdraft

Outstanding expenses

Ascertain the opening capital of the business.

4
56,000
37,000
45,000
23,000
15,000

1,000
21,000
4,000
2,000

. ©THNTIT 3B ST RFTAISY, DF-BINRT 5::30301)6?" ¥e3o%T. ». 1.1.2016 gord
ST Y- BRTIMROBI S INT03:3 :

(AVOIAY)
03038,e550
Ede{ V)

TOMTTO

203, BOORNL
sndd

5IN3

'wazsos‘ W 0f Gaﬁ:;
BRBUCTIT Swrich

dédmdd e3809)T uowme}d(\i& TORY HLROWD.

on.

56,000
37,000
45,000
23,000
15,000
1,000
21,000
4,000
2,000

Harish and Kotresh are in a Joint venture sharirg oprofts and losses in 2 @ 1
respectively. Harish bought goods costing ? 1.00.000 and sent the same to
Kotresh incurring expenses of ¥ 3,000. Kotresh prowice goods value of ¥ 48,000

from his stock. Kotresh paid ¥ 2,000 for storage

¢ T 1.000 for sales expenses.

Kotresh is entitled to commission at 12% on szles. =e sold the entire goods for

Z 2,50,000. The accounts were duly settled.

Prepare Joint Venture Account in the books of Zars=.
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0B S Bt e3 3H-2BA FIFTOTIR), word D03 FA0DLBY, 2 ¢ 1 FoB Bowdeg e
WBROBIRT. 30e8 T. 1,00,000 ri¢ 3TB0NGR), 300080 5.088,8AR T2 3HBIT]T IR
RO BL&HFED Tuo. 3,000 e0FNIR) J0R03. dotsed 31 IBIow Be. 48,000 IPQB
20BN, WBNROZI. B0td 8RO ITBONY womydreN 8. 2,000 Hone dwe. 1,000 Seoses
SYIT) VBT, otdedcHO IR0KE Boed Be. 12 T TR VB BHodHE. B[O
R FTTONYR), 8. 2,50,000 riert Inosts IncozyE. 503res) 30TBAB00BLT.

%ok3 ToBA WZ0dLT), 3035002, BVBT HFTHY,

Apeksha Publications, Hubballi, agreed to takeover printing and sale of a Book
from the author Smt. Ratna on a royalty of ¥ 10 per book printed and sold with
the minimum rent of I 25,000 with power to recoup the short working during
next three years.

The books printed and sold during first five years are as follows :

Year No. of books printed and sold
2011 1000
2012 1500
2013 3000
2014 4500
2015 2500

Prepare Royalty payable chart.
dedd Ze>3 U3y 93008 HFT I0RY IR0 BT wBIWE, wBcg BTesE A
WAZROBRY, I8 HRT SVB - IN0eT Soedd Se. 10 Jod erEBeodR Sesdn TR,

2381 word Saiﬁi On. 25,000 3REO7wEdweodnt odsd mdscmmd SVODT  IIRTO
IRFNYY I3 IRROS ¥PT0 BHOVTII

S0B0 DT IAFNYAT BFTMY S0T,H Borte Sosks B TPV :

SRE R0V Tane Be0E3 BT
R)RINY soafnied

2011 1000

2012 1500

2013 3000

2014 4500

2015 2500

Ta%s3, 5630001, 30370020.
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SECTION C — (3 x 15 = 45 marks)
Question No. 13 is compulsory. Answer any TWO of the remaining :
23,13 66’3@0&)@3ﬂd% , %zabﬁd@ﬁ@cl ye50 SVBY, Gu30D
Ganganna, Rajanna and Manjanna were partners in a firm sharing profits and

losses in the ratio of 4 : 2 : 3. The following is the Balance Sheet when they
decided to dissolve the firm :

Liabilities Rs. Assets Rs.
Capitals : Ganganna 2,00,000 Cash 15,000
Rajanna 1,00,000 Debtors 80,000
Manjanna 6,000  Bills Receivable 15,000
Creditors “20,000 Stock 50,000
Bills Payable - 9,000 Machinery 60,000
Profit & Loss A/c 45,000 Furniture 10,000
Buildings 1,50,000
3,80,000 3,80,000
The assets realised as follows :
4
Debtors 56,000
Stock 36,000
Furniture 5,000
Bills Receivable 10,000
Machinery 52,000
Buildings 1,16,000

All liabilities are paid at book value. Manjanna became insolvent.

Close the books of the firm according to Garner Vs. Murray decision.

roriey, Tatsey By SooweY 2030 TPeTROE F0Z 0D ToLVTRTTING), B¥IBd Wyl R
Sagssy 4 02 3 BRRNGE), BOLBRLTTO. O3 33 B0 0T JBwER SoowueFor
200020 BT VES B3 TNV -

BRpHMmdTNY own. eaéri%b OJs.
wocszsae}ﬁe}o . ﬁoﬁi‘% 2’00’000 ﬁﬁd) 15,000
0%, 1,00,000  TOMTW 80,000
oo, 6,000 WIS, Fo0BND 15,000
FAMTO 20,000 W™ 50,000
LT IA] 5030_0 6%3333 45.000 2eBLRCITOR 10.000
ﬁé{jﬁﬁg\) 1’50,0(—)9
3,80,000 3,80,00_Q

6
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3{333(1% 8 39ND0d Sndesdrtpolss :

4
ErlSlgrieie V) 56,000
ARV 36,000
2CBRCTTON 5,000
WU, BooBNL 10,000
ddode, e300 52,000
BB 1,16,000

DY BHABMPOFNITY, FwD2IeI03>03 2808 IRBERNGS. F0EHT BIoPIPATS.
MRFO* Vs. 307, 930 deorodngdd 305 ob $)z5mied wind 3=35040.
Arun, Apeksha and Akash carry on business in partnership sharing profits and

losses in the ratio of 4 : 2 : 2 on 31.12.2016. They agree to sell their business to
Angadi Co. Ltd., their position was as follows :

Liabilities Rs. Assets Rs.
Creditors 60,000 Cash . 15,000
Bills Payable 30,000 Debtors 1,20,000
Capitals : Arun 1,50,000 Stock 1,10,000

Apeksha 1,12,000 Land and Building 1,65,000

Akash 98,000 Plant and Machinery 80,000

Reserves 50,000 Furniture 10,000
5,00,000 5,00,000

Angadi Co. Ltd. agreed to took over the assets as under :

3
Debtors 1,05,000
Land and Building 1,75,000
Furniture 5,000
Stock 90,000
Plant and Machinery 72,500
Goodwill 45,000

The company also to take over the Creditors and Bills Payable at T 77,500.

The company paid 30,000 equity shares of ¥ 12 each in fully paid and balance in
cash. The expenses of sales (realisation) is T 4,000.

Prepare the necessary accounts in the books of the firm.
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0O, 8leHd S03) ©zT TeVMOT ,oo,.,o:bido msnoado oaw—m&)cmab 4 : 2z
0TI, Soﬁﬁﬁ%émad. . 31.12.2016 dom Sdo@ ;stwmdsag oond so. &.o0bL=8”
ASplebm)TalilAS) éemwmmad :

V30 %daadw 43 B 3YNT03 :

BAHMOTNYD oLn. es3ned ow.
%dnvL 60,000 snwo 15,000
/& 30,000  TOMT® 1,20,000
20BYNRL 1 ©TO 150,000 RO 1.10,000

uege 1,12,000 o¥&d 1,65,000
S 98,000 © &0 80,000
Aerenned 50,000 SeBRCTTT NG 10,000
5,00,000 5,00,000
wories Fo. O.3[C LRRYRY, B BUNT0S SRBE.A%) LIFAOBT :
z
FOMRT 1,05,000
2 & B 1,75,000
SCBRCITT N 5,000
RO 90,000
& & 20 72,500
3e3r350 45,000

303030 %ANRTH R0 BRBIT, BooBNYRY, dwe. 77,500 3rigoded,en WHBRORT.

303030 B, 120 IwdWSod IoFpes Jxsdn 30,000 698‘5&3 Bedondy T
en.x:?acsmag=L SRO BRITY, BRBLD wAW. &Y 2 DoF Twe. 4,000 &N

B0 oD DITBO, ¥IBT WAINIIY, 30370030.

Rashmi kept her books under single entry system. During the year end#
31.12.2016 her cash transactions were as under :

Receipts Rs. Payments Rs.
Opening balance 4,000 Wages 8,000
Fresh capital brought in cash 66,000 Salaries 3,000
Cash Sales 5,500 General expenses 2,000
Received from Debtors 1,10,000 Rent 5,000
Drawings 16,00C
Paid to Creditors 1,41,00(
Closing balances 10,50(
1,85,500 1,85,50t
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The assets and liabilities were as follows :

Assets and Liabilities : 1.1.2016 31.12.2016

4 4
Capital 33,000 -
Creditors 13,000 12,000
Debtors 7,000 7,000
Stock 10,000 60,000
Buildings 20,000 20,000
Purniture 5,000 5,000

Depreciate the buildings and furniture by 10%.

Prepare Trading and Profit and Loss account and Balance Sheet for the year
ending 31.12.2016.

03 3, I3, RVFINIRY, DT TR ST 30D 9EITHZT. B. 31.12.20163, sedrteoBod v30
SN FSHaT e B FYNT08:S

%eédarieéo ow. o33 (o¥2)

R034, 33080083 14 000
WONOR MWIARY 1 41 000
Bod Sex, 10,500
1,85,500 1,85,500
30 erieh 33 BATBHOLRE B FUNTOSS
Y0 ) BeBwOER:  1.1.2016  31.12.2016

% 4
OB Y 33,000 -
Erl/ale V) 13,000 12,000
FOMTTY 7,000 7,000
DB ™0 10,000 60,000
BE3@END 20,000 20,000
SHCBREITT YD 5,000 5,000

FEREAY F03) Sedrelkzdeny Soees B¢ 100 3339 driond. @

. 31.12.20166; grdreord wazsmd S08) ey Hone BF, Vo3 ) ©EeS 5%301)&2{
30353002,0.
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Sangamesh bought goods of the value Rs.1,50,000 and consigned them to
Naveen to be sold on joint venture, profit being divided in 2 : 1. He paid X 8,000
for freight and insurance and drew on Naveen for ¥ 80,000. Naveen paid < 3,000
for storage and ¥ 4,000 for rent. The sales realised ¥ 2,40,000 and sales expenses
of ¥ 6,000 paid by Naveen.

The final payment is made by Naveen after deducting 15% commission on the

gross sales by bank draft.

Prepare the necessary accounts in the books of both the parties.

Bonoe3 ¥33> dwe. 1,50,000 z:b’aegsd k’dﬁbﬁ@iﬂ% FR0B) Ok ToD2 ;stdmdcsé enleptX]
InEen SJeT Ao dm&%m@d. o33 m@—m&)ﬁ%’(&& 2 :1 dod soz?s&oq{)w u&:ﬁ@o&m@d.
BS Md wWdA 303y JBomed de. 8,000 Fetdmed S0 Ses 2938 Doeed dwe. 80,000
aoo&obai% udamod. BT BSTO BTVBoNY Wemdren Twe. 3,000 Bone Wt vw. 4,0005&3{
BRt3RT. B3> ABE 3TBonYR)Y, Ow. 2,40,000 RO S0t IRBWE. VT IP0ET S,
Ow. 6,000 da‘bﬁl g0 emied) &)e&maod. BT VIO FRPBUCTT aa’eaﬁaﬁgl (MXV) 003w Soees
Be. 15 30eRn° I uIB [T, 208 @, 3022030 TZDAATE.

20 BRIV V3B 3rY) 303HBD.

[A)

Usha Ltd. Co. took a coal mine on a lease at a royalty of T 4 per ton of coal raised
with minimum rent of ¥ 1,80,000 per annum, subject to the right of recoupment
of shortworking in the next three years. In the event of strike, minimum rent be

reduced proportionately to the period of strike.

The output during the five years was :

Year Output in Tons

2011 30000

2012 40000 {
2013 50000

2014 22(300 (strike for 4 months)

2015 60000

Prepare the necessary accounts in the books of Usha Ltd. Co.

10

L
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o O, 0. FT> FOFe NS, rees LBOBY, TABXTS. TouR) I8 L't T, 4 Tod
7Y, 303, wlrtod B3 I3, G, 1,80,000 AW, B3 IxF TS B TR,
wBAOH) 0BT Feto IRFNYY, Teew IRRT LTITHE, BBEBINIY. IVRTT
SRFBE 0, BT, BRTITT oD FBINAIREITING .

0r IReNY suzaEadn S FPNT03s

3R T (LTI

2Q11 30000

2012 40000

2013 50000

2014 20000 (4 8on¥ F0IY)
2015 60000

evED ©. SoBADT BFFTA, 8,8 0InYm) 303POO.

13. Case Study (compulsory) :

Madhu, Roopa and Sowmya were partners sharing profit and losses in the ratio
of 4 : 2 : 2. Thefollowing is their Balance Sheet as on 31.12.2016 :

Liabilities 4 Assets 3

Capitals : Madhu 40,000 Land and Building 90,000
Roopa 60,000 Furniture 50,000

Soumya 80,000 Debtors 40,000

Creditors 30,000 Stock 20,000
Bank Overdraft 10,000 Cash 10,000
Loan from Roopa 10,000 Profit & Loss A/c 20,000
2,30,000 2,30,000

It was decided to dissolve the firm. The assets realised as follows :

Date Land & Building Furniture Stock Debtors
% T 4 4
31.1.2017 18,000 12,000 3,000 7,000
28.12.2017 19,500 10,000 5,500 9,000
31.3.2017 47,500 12,000 9,500 7,000
30.4.2017 38,000 8,000 8,000 6,000

(a) Prepare statement of surplus capital.

(b) Prepare a statement showing distribution of cash.

(c)  Write the order (priority) of distribution of cash as and when cash received.

11
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2,30,000
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40,000
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30,000
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10,000
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2 : 28 IBP0BE,

ow.

90,000
50,000
40,000
20,000
10,000
20,000

2,30,000

FrloN arie]et)] 353@303@01)6% :)z,’zﬁr?omad. AL S0e3Dor o FYAT03 9 F0w0HTING :

Doeos

31.1.2017
28.12.2017
31.3.2017
30.4.2017

() B30 wommee JEIOI) 33ROV,

(b)  Src Borsdad HeIpdD, 30470,

(0 odwa-aimmen SHsd woBBR), Bots SRS LG,3aR, LED.

12

DeF & D SeBRETTT  WIRIR TOOMITT
4 3 % 3
18,000 12,000 3,000 7,000
19,500 10,000 5,500 9,000
47,500 12,000 9.500 7,000
38,000 8,000 8.000 6,000
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B.Com. DEGREE EXAMINATION NOVEMBER 2018.
First Semester
M.I.L. - KANNADA
BASIC
(Revised - New/Old)

Time : Three hours Maximum : 80 marks

Text : 55 693 TOFOW ) SFOIF 50 TOFOT
o S03) WOBT BoBM NI EATSRLBT.

() 53,3200 PHPRBA, BBR08 F0B) BTWFTT 03, 1330 50 LLFD,

ZIaTwD)
(b)  %0% BATZF ‘BROF ITFL), FET 320D’ FoFNTS, F0AB WoB 3¢ T WoIVHYTY,
30,802 W30DD. (15)
BIATH)NYD adde VBB, 303> BOBRE 3%3 HZOD (2 x5=10)

(@) ©3de BOTTo TBOWESA0T,0 30T,0.
(b)  adgn dede RHTL FFTSES Fo05

(c) HPeATT wetdr Wo3D] I0DeTT 258318 2030.
(d) 200 ZoFTI %dﬁodo ToWHTO.

BINT cdnF)Be HTBRY, ToD3 E33 ¢85 WB0DV (2 x5=10)

(a) =9=3

(b) WIsIow w303

(c) eaawzs (AL

(d) % & Dewddo

(a) wRTor ¥TT ‘BIT B FIOLEA ToRB 20T TSPV ABOWS TV 2323€20.
Llatwr)

(b)  80. THHT, BT “WoBRPF' BIoh, BRBICaDIAD FAF, PN T Buew
ROBPETIVRY, HTOD. (15)
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FINTRID 0dnF)Be HOBT 50w 5&3 JS00 :

(@)
(b)

(c)
(d)

AT, BOBONST e3P Aes Ts GO, T ADMETT03TLBIT.

‘QeRD wohe ¥or, B3 Sodert WO womon g

D™ BN 3VF :;’aq) 63%5‘\3 TR SPCRINC.

T, Qexds Bdeeh ﬁé%jdozd;ﬁon)m& 53&)@(’5 azf)u% TOBL0BY 230.

BINT adnZ)Be H0BBY, 500 £33 ¢85 w0V

meg;)af o
QCETD. aaoéesad

BRBNT MPTRY

BNROZS
=

BINT BBV wodde o3 WA uZ03

(a)

(b)

©3)I=03 adRT FH Fe? IOTLRII?

5OTo0S)00) B30od BRTETO?

2BTIROT B0T-Fo000Me BRTCRO?

Bsoct3 HTENOZ NPT JT, AdPZBEO?

SoR0T BT DR HIO?

S50} Sozeies eaod%orvac‘g Inle] Faa%mm 035935307

‘BIT 0T 30D SeDTT 03NRTO?

BHTNY® ATRTIFS, 93T BT 0dHEO?

DBONE’ T30HLB), 0dRT 3P F0FOVDOT 3030FAY,PNS?

Soed0d B30 BRTERO?

o

(2 x 5= 10)
(2 x 5 = 10)
(10 x 1 = 10)
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B.Com. DEGREE EXAMINATION NOVEMBER 2018.
First Semester
ENGLISH
BASIC
(Revised - New/Old Syllabus)
Time : Three hours Maximum : 80 marks

Text : Life and Learning

1. Answer the following questions in a word, a phrase or a sentence each :
(10 x 1 =10

(a)  What did Buddha, Ashok, Jesus Christ and Gandhi believe in, according to
the author?

(b}  Until which station was the narrator alone on the train?
(c)  Who is the writer of the short story “The Eyes are not Here™?
(d) Which country does the Kabuliwallah come from?

(¢) Mention the name of the school which was the most elitist institution for
Africans in Colonial Kenya.

() Who is the speaker in the poem “Sonnet 13077

(g}  How is the sea described in the beginning of the poem “Dover Beach”?
(h)  Who is the poet of “Mending Wall?

11 What is the occupation of Pushpa’s father?

Ji Whose wife was a good cook in the poem “Good Bye ........ T.S. Pushpa’?

Z Zxplain with reference to the context any TWO of the following, choosing one
Tom Prose and one from Poetry : (2x35=140
& Can you tell me - did she keep her hair long or short?
S Are vou going to the father-in-law’s house?

: - grant [ never saw a goddess go;

Yy

-+-¥ mistress when she walks treads on the ground.

2 Heispineandlam apple Orchard

"

De rees will never get across.
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(a) How does the relationship of Mini and Kabuliwallah affect other people in
the story? (1 x 10 = 10)

Or

(b) How does the title “Decolonising the Mind” become relevant in the essay?

(a) Discuss the idea that society gives undue importance to the women’s
external appearance. (1 x 10 = 10)

Or

(b) What are the themes of the poem “Dover Beach” and how are they related
to the times in which the poet lived?

(a) Fillin the blanks with appropriate articles : (5x1=9)
(i) There should be __ ___understanding between friends.
(i) Mr. Patilis most popular physician of the town.
(iii) Rajuis great Union leader.
(iv) more I eat, the less I get weight.
(v) Itookout bank note from his bag.
(b) Fillin the blanks with appropriate prepositions : (5x1=9)
(i)  The river flows the bridge.
(i) She doesn’t listen _ __me.
(iiij There is a ceremony the house.
(iv) Ifound the window and sat _____ it.
(v) What kind __ _government 1s this?

Fill in the blanks with the correct form of the verb given in the brackets :

(10 x 1=1C
(a) Radha has __ (go) to Delhi for higher studies.
(b) They (to be) the culprits.
(c) Suma _ (wakeup)atb O’clock everyday.
(d) Do they always ___(listen) to music?
() Mymother (drink) the water yesterday.
- N —J i




-

1082-A01-ISC-R/O-N-18

He (expect) a lot from me.
(g} She (to have) completed her work.
(h) They are (stand) in the queue.
(i) Yesterday they (tell) the truth in front of PSI.
(G}  The poet has (express) his views in the poem.
Identify and underline the errors in the following sentences : (10 x 1 = 10)
(a)  One of my relative is very rich.
(b) They met me a hour ago.
(c) Time and tide wait for none.
(d) There is no trees in our area.
(e)  She prefers milk than coffee.
(ff ~ What is the time in your watch?
(g) Her hair are long.
(h) Ramu always sits besides Raju.
(i)  The bunch of keys are lost.
{j)  She is carrying her luggages.
fa) Give synonyms for the following words : (5x1=29)
(i)  Accept
(ii) Belief
(i) Deed
(iv) Holy
(v) Wise
)  Give antonyms for the following words : (5x1=5)

(i Ancient
(iij Boon
(iii) Friend
(iv) Import

v}  Quick
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B Com. DEGREE EXAMINATION NOVEMBER 2018,
First Semester
ENGLISH
ADDITIONAL ENGLISH

(Revised - Old)

*
~:me : Three hours Maximum o 80U marks

o

Text : Selected Lesays

Answer the following questions 1 a word « phrase or a septence each :

(10 x 1= 14,
What do you get by reading a cood book according to Milton?
What is God’s image according to Milton?

How is Sir Roger de Coverley in hus outlook?

What has ruined more natons than the Sword according to Sir Andrew
Freeport?

Who is the author of Dream children?

What did the man in blacik give a beggar?

How was the grand mother of Ch arles Lamb?

“ 7

Who are not efficient in vitality accerding to R.L. Stevenson?

What is onc of the significant features of hea venly iife?

How was the man in black externally and internaliy?

Explain with reference to the context any TWO of the folicwing . (2 x5 =10j
(a) “Many a man lives & turden o the earth: but a good book is the precious

life blood of a master spirit, embatmed and t casured upon purpose to a life
beyond life.”

“He abounds in several frugal Maxims among which the greatest favourite
is “A penny saved is a penny got.”
«] have known his profess, himself a man hater, while his cheek was

glowing with compassion. ...

“I missed his kindness, and | missed his crossness, and wished him to be
alive again, to be quarrelling neither him.....”

et
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(@) Milton pleads for master spirit and freedom of expression with reference :
“Books”. (1 x10= ¢
Or
(b)  Write a character sketch of Sir Andrew F reeport in your own words.
(a) The Man in Black is generous and kind hearted by nature. Explain.
(I x10=12
Or
(b) Describe the extent to which the essay “Dream Children” is autobiographica
in nature,
Write short notes on any TWO of the following : (2x5=10
(&) Grandmother Field
(b)  Sir Andrew F reeport
(¢) The Man in Black
(d) Books - a potency of life
(a) Read the following passage and match the underlined words with the:r

meanings : (10 x 1 = 10,

Studies serve for delight, for ornament and for ability. Their chief use for
delight, is brivateness and retiring; for ornament, is in discourse. and for

ability, is in the ludgement, and disposition of business.

A B
(i)  serve - pleasure
(ii)  delight - work for
(iii) ornament - capability
(iv)  ability - adornment
(v}  privateness ~ withdrawn
(vi)  retiring - behind the scenes
(vii) discourse - decision
(viii) judgement - a long talk
(Ix) disposition - buying or selling goods
[Xi  business - nature or temper
2
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1o b Prepare a newspaper headline for the following : (1 x5=29)
10)
Heavy rain in State has substantially increased in flow to the major
reservoirs. The stormy wind and the collapse of the hill caused a good deal
of tragedy. Homes reduced to ground. A heavy loss on humanity.
(c) Write a slogan to promote water awareness and scarcity. (1 x5=39)
0)
. (d) As a College Union Secretary, write a report of the Inaugural function of
your college. (1 x10 = 10)
al
))
3
S — R ——
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B.Com. DEGREE EXAMINATION NOVEMBER 2018.

First Semester

C.L. - HINDI

BASIC

(Revised — New/Old)

e T:me : Three hours Maximum : 80 marks
Text Books : 1) 79 &Y - &F° WR@H
2) oo fAger
3) SIS
T G 7oAl & AE SW AN I (10 x 1 = 10)
la) ST UHIPRRAY & TUeH g
(i) T ey (i) Teg gfof
(il) 7T DAL
5 T ey TepTe™ A Teh1iare 2|
(i) SIYR TepIeE (ii) GOl g1
(iif) ATPIR TpTI
c ﬂﬁﬁqﬁ %\I
() STy (i) Feg
(iii) PR
4 vEg B afgey. o gl
i) YT gEE (ii) reTD
(iii) P ¥
e XTI A TH |
TR (i) TaTer




S IUN g T I ¢
(1) %'W (11) spapaiD
(i) TR
P & T
) g I (i) 3. gonhes fgaal
(i) Ferdt gnt
fref ikt & @Erl
(i)  3mRDId (i) TR
(iii) fdepra
MARH BT e gl
() TR AR T Gi) fea
(i) U Qe

3 3R & @d § 3fFT g effy
0 o= i) I5
(ii) TR
faremTTer 91q B! BT A B
() P (i)
(i) foreh oflk S
fi=T q IR 2l
(i) et (i) HHES
(i) HET B
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m) T HARH B 7 S oft 1 g BT BT 2

(i) TR (i) g

(i) TR
(o) AT I et A IR ey gl

() ey dge (i) per

(ili) IR BT TRy
forelt 7 o wf e Tt Sy (3 x5=15)
(a) SR, g9 I8 3resT T fan gwarem”
(b)  “omaen! BN 1w 2 e st A TwE 20>
(c) “3M9 |1Y B, 3! SR wHst § 78 e
(d) ‘W%%%WWW@%#W&#W@WW%W
() “PEd €, gda e P 81 & R RdTer o &t wae & gt
(O T 9R $eft & TR SR AP E-Tr F A F GRY IRy SR aTERY a7 v

feeal ] wel & IR forkav (2 x 10 = 20)

(@) Fih-Arh wrt o aRiT e § iRy

(b) 3T I ferarer a1, & Tgl = dier T vy HR)

(c) stﬁaﬁmwsﬁqeﬁiﬁaﬁqme}f

(d) ‘WW@RWW%W%HWWW%MW@W@
HIRTY

=% QA W aT U3 iy (2 x 10 = 20)

@) AT AT R H Al (HP) 9-29 (Laptop) ¥ ke 2 TEd E 3 BUH |
TOAT AT §Y U o e

o

bl m%ga@gw%WWHW#aﬂmazﬁﬁgqg@WW |
EERIKEAC i R AP Rt

3 oo
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(c) IO ST 9T GRT AT T URfel ot % TeR @ el ugar @ gale Sl
it & =19 @R ux faRau)

(d) X R9m 7 uTe uRie et oravr § el 1 St R a8 Y SR B AW
wR -9 gqrar o3 felkau

fa=t 7 argarg HRY (15)

India is a country which has unity in diversity. There is no place for caste, class,
colour, creed and religion in nationality. Indian Constitution helped its citizen to
develop their such qualities. People taught a lesson by democracy that live and
let live. We respect our mother earth.

37008 Be38) AP0 053 ROV, 3 [AF, 289, wwaon S08) PRornvn dedw nvdoad
D30T Women-e ACOF)BY-PeT3eod FoAFNT) QIH mme;mq @@3&32»5@%@0 33,
Don0TON FBTORIZE. T25@1I03N0T LTI T=I) WHITIET) RITON wHHTED DWWET> DT
33 39308, ™) 03 B3t POITLI B,
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B.Com. DEGREE EXAMINATION NOVEMBER 2018.
First Semester

BUSINESS ENVIRONMENT
(Revised)

Time : Three hours Maximum : 80 marks

Answer all questions with strict observation of inner choice in each Section.
Question No. 13 is compulsory (Case Study).

SECTION A - (10 x 2 = 20 marks)
1. Answer any TEN of the following :

MG £§i% U300 :

(@) What is Business Environment?

3BT BORTLB0BTeR?

(b) What is National Income?

Tad£add B0 LIoBT3eT0?

(c) Expand M.R.I.P. and S.E.B.I.
M.R.LP. 253 S.E.B.I. 230% wd0d.

(d)  What is capitalism?
WOBJISTo&e sgz@ 0TBBEFHI?

(e)  Who is bear speculator?
T08 5&33&5@325@8 0BT 0350007

(f)  What is legal environment?
FIRRIT JOZC 0TTeRO?

(g) What is culture?
207,38 HoTTeRO?
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(h) What is Fiscal Policy?
303 0d BT Jed DoTTER?

()  What is Social Responsibility of business?
BB 50302 BPBMOF Dorvesd?

() What is Business ethics?

Qﬁaaddc‘& 8,388 HonTerd?

(k) What is Social Audit?
TBPLT ST, 308038 Q0TTERO?

() ~ What is Balance of Payment?
30T 0D W HOWTERTO?
SECTION B - (3 x 5 = 15 marks)
Answer any THREE of the following :

ez do.fadi% V30D :

Explain the macro environment factors affecting the business.

zsésaadcﬁ Soeed 3BT DevoD a’)aaefasg Fiterielnl eaoéﬁejmqada%&

Explain the views tor and against social responsibility.

TODINLT BRFHMOTOD TT T3 adawamdﬁ%fw% e,

State the features of capitalism.

0B TP T&HC %zﬁﬁ@oﬂo e)gmrﬁ@émq 200D0.

Discuss briefly the linkage between Technology environment and business.

30329 F S0x0 03 ;stﬁmdﬁ%f VROV BoWOPNYT)I) BP0,

Explain the benefits of Social Audit.
B30T I, SOBRcFIab B 03 ReETRYT), D020

Explain the planning role of the Government.

305000 odpewiod Da3T0), J5020.
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SECTION C - (3 x 15 = 45 marks)
Answer any THREE of the following, Q. No. 13 is Compulsory (Case Study) :
ez S0e0E, Bu3DD, B3 30 13 F@0IHING (FFTeo gl obT) !

. Explain the micro-macro environment factors affecting business.
BRZ SO DZDO DORTT 03nYs), JBHTT BoedS DeTLS FOFHZINYB), IS0

- Who are the major players in the business environment? Explain.
DXL SOZCTAT TH0D S HONLL 033pTO7 JSOD.

.. What is globalisation? Explain its merits and demerits.
250713800 D0TBERO? ABT BRTHOI [03Y WTITITAOINTTY, DO

What are the components of political and legal environment in business?
Tozsdeody Harte TBAPY BOITH ©oBNYE), HZV0.

"2, What is Technology? Explain the economic effects of Technology.
3082598 HOWBERO? 3032FH BRET BOHOTONTT, HSOAV.

Case-study Analysis (Compulsory question) :

If we consider the population as a resource rising population is beneficial for the
economic development of the country. But the same population is considered as
consumers. It may affect the development of the country. In the lights of this,
you are required to answer the following :

(a) What are the causes for growth and population?

(b) What are the impacts of rising population?

(c) What are the remedial measures you can suggest to check the population?
B0 G 00T IFERE (vweod> 538)

maﬁﬁoaj;jqbd% Do) ﬁoﬁaﬁ@p DOBO BONELRTT DTOYTOT uasoaféoip BeBTW sHET eaz;’)de)&gi
UIeRrH3y. 8Ed e zsdﬁoa%obaig{ MBTCY 0B TORRTT, 8PFE eaz;)de)amﬁ 9T
SI00THNIZE. B DR0LT, F0WoPT03 B FYNT TNt ev3d0.

(@) =eRosd LIJSedrt TONYITD)?

(b)  2TLITOT w@H0a3 03> BOTZONYIT)R)?

(c) wmH0a%, Aoho3 we, alns BOBONYR), RNURDD?
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B.Com. DEGREE EXAMINATION NOVEMBER 2018.
First Semester
ECONOMICS
MANAGERIAL ECONOMICS -1
(Revised)

Time : Three hours Maximum : 80 marks

[

Section ‘A’ should be answered continuously.

Draw diagrams wherever necessary.

SECTION A - (10 x 2 = 20 marks)

Answer any TEN of the following :

AT oIRF) W0 BIE, GU3D2D

(a)

Give the meaning of managerial economics.

ASFB D VPETR T VB SHRO.

State the basic problems of managerial economics.
IS FBe0 YFFTIR B FoRO FDOXTIVDY, HeFO.

Give the meaning of Decrease is Demand.
WeRs o awdod ¥ps RRBD.

State the meaning of Demand.
3eRTOD uPs BeYO.

What is Supply?
3T T HorTeR?

What do you mean by Decrease in Supply?
@adﬁoﬁoeﬂm Q9E HOW3EDO?

Write the production function.
UTITT BBORTE WTADD.

Define external economies of scale.
m&a mss?jodo masaaazsma.

&



Give the meaning of opportunity cost.
Eapartirt:1 ;523253 R 3RO,

Expand A.F.C.
A.F.C Q3030.

Find out Fixed Cost from below data :
Total Cost - Rs. 2,000
Variable Cost — Rs. 1,500

9N 3oagsrie?od ?\)@d msuﬁoca’o SBOVD :
2,830, 3w ~ Bwe. 2,000

(5] A)
(A laTorTa b dzsu— on. 1,500

What is Marginal Cost?
90U 323, H0ETeR?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
3INT 0300F) TR Soess, Gu3DAD :

1098-A41-ISC-R-N-18

Explain the nature and features of Managerial Economics.

VSEBH VFETR ITHD F03Y OFNIs), Z00.

3

Discuss the determinants of demand.

WeRToD &)cpardﬁri@m% 2323620,

Calculate price elasticity of demand from the following data :

NS ©90% 003Ny 3B20LDOT WS WeBTob A3 TINT), 97, HadD

P,=Rs.2 Q,

1000 units/spe3sned

P,=Rs.4 Q, =500 units/ pe3sned

Write a note on the Law of Supply.
BPYFOD Q0BT BoeeS €33 £d wB0D.
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Explain the relationship between FC and VC with diagram.

A0 £, <03) WBORNOS dzﬁuﬁ%} SBOAT FOWOFID), Feard 283,3.0000 HTDD.

What is Cost of Production? Explain the implicit cost and explicit cost with an

example.

PUITTD msucbodded)? BLEBTT 03000t BT T Jus 03y FF S$2IIT), OO,

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following, Q. No. 13 is Compulsory :
BIAT oI TeTe SoeTT, Bu3DRD, BB Koa 13 F@0dNT :

Discuss the role and responsibilities of a Managerial Economist.

ASFB e VPFTOR W T3, D03 wHWIDNYR), 2323620

Explain the various methods of measuring price elasticity of demand.

3¢5 WeRBAD 23TTFIRTY, ¥F0IVST VG IBSNFR, HTOA0.
® @ < Q [~) LS

Examine the law of variable proportions.

WEUINROE BOIsend AodB0BT), FOeF0.

What is elasticity of supply? Explain different types of elasticity of supply.
Yo .%Qém@wﬁéa@oddewo? RPYT ?\;@3@@353&6 DAY I5aTridHY, HS0AD.

State the meaning of FC, VC, AC and MC and calculate FC, VC, AC and MC from
the following data :

AT &4, (NOSEIININIZ Jlerhle DILISES) ©0uT SNy ore BePD ) FYNT W3- w03NYT
FC, VC, AC 203y MCriga), &3 3»80D

Output (in units) : 0 1 2 3 4 )
YUIF (Fe3TMYD)
Total cost (in Rs.) : 130 150 190 220 260 320

23) F28 (CR. e :
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Case Let/%3 Z)dasmaf :

Read the following case-let carefully and answer the questions given below :

18 DG ARSI, TYBOOT LB S083 ST FBON e300

Samsung mobile company registered the sale of mobiles during the last five years
as under :

ARBoTRON® S02]0° FomA0D S0 RY ST 330 0B IRFNYES), B8 FYNT03W

Years : 2013 2014 2015 2016 2017
IRE
Sales (in crores) : 140 160 170 160 190

S0 (et Cn. NYY) !
Questions /ZFN0:

(a) What is demand forecasting?
23eBF b BVTOWIL 0TBeTO?

(b) Estimate the demand for the next three years.
SV0WTOR BT IRFT WeBTOD VL%, BF0DD.

(c) Should the company expand its capacity?
ToTQ0ID 3@{@5\)@5?5@4 DR OxIeE?
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B.Com. DEGREE EXAMINATION NOVEMBER 2018.

First Semester
Paper 1.4 - PRINCIPLES OF MANAGEMENT
(Revised)

T:me : Three hours Maximum : 80 marks
Answer ALL questions subject to internal choice.

Question No. 13 is compulsory.

PN
SECTION A - (10 x 2 = 20 marks) g N
/

Answer any TEN of the following :
YNSRI 3eor &3F, Gu3dA0

(a) Define the term ‘Management’.

DTTDVOD T3, FNRO.
E5) ) BYEE)

(b)  What do you mean by Unity of Command?
es8e3ndd H3d 05TeRO?

(c) What is Specific Planning?
D8R, 03ewsts HoTTeDH?

{d) What is Management Process?
IBmBI0D FBeod H0TTeRO?

(e}  Give the definition of Decision-Making.
QgaF 0BODFOD 59,88, wTB0RD.

) Write the meaning of Centralisation of Authority.
Feolyes 3 ¥RTIT HoTer?

'g)  What is Formal Organisation?
B535208 3050838 0BT ERO?

ny  State the meaning of Staffing.
22008 BeQRIF)TO QOWTeRO?
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(i)  Write the definition of Co-ordination.
55\)6&0&1355 235, FHBO.

(j)  State any four barriers to communication.
BoZTE Forfed FowTHN VIS o, VBUBMIT) 3920.

(k) Name any two theories of Motivation.
8801 03N WIBTR STREO AT 03NYT), BHBAD.

()  What is Budget?

0T BF H0TTERO?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
BINTHNYD 23500 Mdﬁé U300 :

Differentiate between Administration and Management.

BEIS 303) IBFBS AYMIAT 03TRYRY, WD,

What is Lower Level Management? What are its functions?

BT DRI D0TTERO? 9WT 50D 392D

Describe the techniques of Decision-Making.

QLEOWBIATOD éo@m}aizt =630,

State and explain various basis of Departmentation.

D2TIACTT W G esmdri@mod 892, J=020.

Define communication and state its characteristics.

20DTE R0TICH 30WTFHOD Jazsa% 3R, VBT Oﬁ%ﬁ@ﬁ%é@?\,&

What is Direction? Explain its various approaches (styles).

3lale=TaIn] m?ja% W3R, BT é;jc‘)rﬁeémd Konte)Ye)

2

-
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SECTION C - (3 x 15 = 45 marks)

Answer any THREE questions including Question No. 13 is compulsory :

Wz Jondo @éﬁﬁ?ﬁ gu3020, 133¢ T8 sweod :
'y > o a

Bring out and explain various functions of Management.

%dm@ﬁafodo A ﬁaabrrie;wgl D=0,

Define Planning, and explain its advantages.
adeewsad 3 Bt), ¥BT VTOTAOINYE), DTV

What is Organisation? Examine its principles.
BoPE3S HoETesy? ©ET B3I, ede 0.

Discuss various types of communication.

ROBJFE F0Be3 ZoWTFHOD DG z@mdﬁe}d&é’)d@%&

Define the term ‘Motivation’ and explain its steps.

&,e0FH 0D 985 WO, BEIIF AN HOINYTY, HZOD.

Case Study (Compulsory) :

IO 7 obT (F@WD) :

A Company, with 4000 employees, is engaged in the production of smart phones.
Employees are not working happily and satisfactorily due to low morale. As a

Personnel Manager what steps do you take to improve the morale of the
employees?

TEFE PR 3adndIob FoBAALE Vo0, 5T Z;uwoa o5 X)ss&z@m@d 830 8,35 3 qubr
wmégpe‘qu@ Fo080 eI0 Fed 3380 Hane R030eRFTNOF B, Ae) 220D AZFBTY
F200doN oo cdnS @mm@t 3O3R 0RY 833 3,35 3 @,Qbs‘dag{ DGDRIZCD?
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B.Com. DEGREE EXAMINATION NOVEMBER 2018.
First Semester
Paper I - FINANCIAL ACCOUNTING - I
(Revised — New)

T-me : Three hours Maximum : 80 marks

Attempt all Sections according to internal choice.

Use of simple and programmable calculator is allowed.

SECTION A — (10 x 2 = 20 marks)

Answer any TEN of the following questions :
esors BBY BBNVIT GUIDAD -

(@)

Who is insolvent partner?

DB c0 JeVTF0 adPTO?

What is Royalty?
To%R_ DOTTERO?

Under what circumstances do you apply “Decision in Garner Vs. Murray”?
adns BoBPEB MTET? Vs. S8, QoDZOTTY, @FSBRII0?

What is recoupment of shortworkings?
BoBB $ATI0DBY, IR SRBIF)TO 0TBERO?

Why do you prepare Total Debtors Account?
2t3), FOOTHTT 3p3030E) ey HF 30350030207

Give the entry for transfer of loss on realisation.
SRR RTeN0E5RIT B0, SMPF AV YOOI Bz DS QeRD.

What is meant by “Purchase Consideration”?
DBEH B0y P0TTeR?

State any two merits of single-entry system.
DT TIRTO 56@301) QIRF)TTTTR VB BBIBHOIRYT), 8¥3D. i

When do you prepare ‘Memorandum Joint-Venture A/c™?
259 [ wWOk3 2350 3 ad®), odreaN 303503007

1
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()  What is meant by “Piece-meal distribution”?
“BRED 30e080 IV’ F0BWTCBO? .

(k) What is Joint-Venture?
20t3 FOBR JDHT DOTTERO?

()  What is “Dissolution of Partnership”?
. “ZTe0TDT0H IRWER” H0BTETO?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
65w Soecd BBNRIN GUZ0D

2. Distinguish between Partnership Firm and Joint Venture.
TRENMOE Y 50k FTHIT FBODT FFYRMYS, WS

3. Gagan and Parikshit were partners sharing profits and losses in the ratio of 3 : 2.
On 31.12.2017 their Balance Sheet was as under :

Balance Sheet as on 31.12.2017

Liabilities Rs. Assets Rs.
Creditors 24,000 Plant 85,000
Bills Payable 34,000 Stock 42,000
Reserves 22,000 Debtors 30,000
Capitals : Less : RDD _1,000 29,000

Gagan 60,000 Cash 14,000
Parikshit 30,000 90,000
1,70,000 ©1,70,000

The partners sold the business to Manjeshetti Co. Ltd. The assets and liabilities
were taken over by the company at the following values :

Rs.
Plant 82,000
Stock 55,000
Debtors 28,000
Goodwill 15,000
Creditors 21,000
Bills Payable 23,000

Calculate Purchase Consideration.
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nne® S08) B0eFS® TLVWITTNG), 23 FIAOLRY, 3 : 20 BB H0wdse),30aT. &30
@R B33 Bweos 31.12.2017 Towd & NS08 :

31.12.20170 &8 333

BHTMOOBMED ox. 271 0.
Ao 24,000 T 85,000
30838, BooRriv) 34,000 ©PA™ 42,000
AR 22,000 DOORTTO 30,000
WOT0Y sR3 : 5303%82)63

Artes 60,000 RoBaimaE APrYs 1,000 9 000
=0eg®  30.000 90,000 SN 14,000
1,70,000 1,70,000

ZeenMmddd 33)@ emaadaoi)md 008 éé%d 5020 Qo3 IR SPOTLTT FoF) FoITA
uag)&aozs e82 BABMOENY 53’0% o FINT03 9 :

3.
BRI 82,000
ORADIN 55,000
ESOEDS 15,000
BRI 21,000

DD BRI, FoBO HROWD.

cilities - Ram, Rahim and Karim are partners sharing profits and losses in the ratio of
2 : 2 : 1 respectively. They decided to dissolve the firm and their capital balances
is as follows on the date of dissolution.

Ram - Rs.60,000, Rahim -3 50,000 and Karim - Rs.20,000
Calculate the excess capital of the partners.

T, B&ERD F03) OGS ToLOWITTINBY, g 03 FA0B), 2:2: 1 80z3TY,
©BZRoDN HoWFAYY 09T, BBT0 TIMEDF F03 0T IFLEFLD AFEOAWIT o) BT
WOBHIYT) IRWEB oD B203F, Bt FINT03TS

Do) — 8. 60,000, Téed ~ T, 50,000 3de — Bwe. 20,000

EloviAriele] éwousb wodm@ﬁa&z{ FOBY HLBOWD.
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Mrs. Gowramma furnished the following particulars and request you to find ou

closing capital :

Assets and Liabilities :

Sundry Creditors
Bills Payable

Bank Overdraft

Bills Receivable
Debtors

Stock

Plant and Machinery
Land and Buildings
Cash in hand

r@dzzb@e}o FINS msosmag
B0eDBLROBTONYD ©

BT DO BABMOEAL

Erlslaled)

BRB3T, BoORML
W9,05° LSV B
2033, BoOR
TOOMTT)
AEREIY
03030,c580
3R F03) FUTW

S 8, Ben,

31.12.2017
3

36,000
20,000
18,000
25,000
40,000
70,000
40,000
60,000

1,000

WEMBL BORR [VTOPE  WOBTY  FoRE) SR

31.12.2017

gwe.

36,000
20,000
18,000
25,000
40,000
70,000
40,000
60,000

1,000
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“» Salaman a Professional author of Financial Accounting has entered into an
=z eement with Popular Publication House, Gadag on 1.1.2012 for publication

-+ 4 sale of books. The terms agreed were as under :

© Royalty payable is at Rs.20 per copy.

[}

The author is to be paid the minimum rent of Rs.60,000 p.a.

3. Each year’s excess of minimum amount over Royalties earned is recoverable

out of the surplus royalties of next two years only
The following are the particulars :

Year ending No. of Books sold

31.12.2012 2000 copies
31.12.2013 2800 copies
31.12.2014 3000 copies
31.12.2015 3200 copies
31.12.2016 4000 copies

Prepare Royalty Chart.

€3§é33fo;/@o_"&01)65 38x0 SeDTTIR . BUYF® VITO B)3T T,58T008 FOF)O0° BVBBD® 7,
RER aRCROR Bpeos 1.1.2012 Tokd R)3INY TF3T S03) BP0 SNREL WwIT
IPBBROBTTIT. WIOBT BeIFN 8% FINT033S :

1. 338 &‘g’){q’oa’d Uaas,‘u;zjd gdw. 20.
2. Sed3dn 5IR 2RBN 2,000 IRFT, T 60,000 3BT

3. I3 IRE UauﬁéioS émud LY méﬁodoﬁodzﬁoooiﬁd 2 IRFNYS Smeen SRBEIT)TIO.
#9n szﬁdi’i@éa&ﬁmdmﬁd :

ENCIMAVoE kY SRE D00k ST 319 308

31.12.2012 2000 3,3ned
31.12.2013 2800 S8ned
31.12.2014 3000 338nd
31.12.2015 3200 Z,3red

31.12.2016

4000 33>

ottty dé%dobﬁ% 30350020.
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Mohan and Devraj are partners sharing profits and losses in the ratio of 2 : 1
Their capitals as on 1.1.2018 were Rs.30,000 and Rs.15,000 respectively. The
reserves and accumulated losses in the Balance Sheet as on 31.12.2017 wert
Rs.9,000 and Rs.12,000 respectively.

Find out the Capital ratio of the partners.

BAES I BeS00sF  TIWICTNG), <o I FADIY, 2 ¢ 18 eROmIHe
sozséﬁei%§waod. Dm0z 1.1.2018 Totd 830 woBme%¥=) Ce. 30,000 mane dw. 15,00(
BTN WAZY. BFeos 31.12.2917 Somd wmEes I3FabE, TN, P Zori
B0wENRY e LIDTLT FoANLh VTOFHVFN Bue. 9,000 warie Be. 12,000 23033

TICVWITT WOB DY eaabma’smq FOBY HLBOVD.

SECTION C - (3 x 15 = 45 marks)

Q. No. 13 is compulsory. Answer any TWO of the remaining :
33,503 13 Twa0d0=N. @Q@d@ﬁ@@nﬁeﬁad HOBY, GLZDD. :

Vedavathi, Swati and Vijayakumari are partners sharing profits and losses in thu
ratio of 2:2:1. Their Balance Sheet as on 31.12.2017 was as under :

Liabilities Rs. Assets Rs.
Creditors 95,000 Land and Buildings 77,000
Profit and Loss A/c 35,000 Machinery 65,000
Capitals : Furniture 55,000

Vedavathi 80,000  Stock 76,000
Swati 80,000 Debtors 20,000
Vijayakumari 15,000 Cash 12,000

3,05,000 3,05,000

They decided to dissolve their partnership firm and the assets were realised a
under :

4
Land and Buildings 85,000
Machinery 55,000
Furniture 46,000
Stock 82,000
Debtors 15,000

All liabilities are paid at their book values, Vijayakumari became insolvent.

Close the books of the firm according to decision in Garner Vs. Murray.

6
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SR, M3 F3Y DoDTITPOTSTO TOVTRTTNG), @erd [03) FANETY 2 : 2 : 10
BROTITE BOWBAUYTTO. D08 31.12.2017 Tord &30 e S3Fadn & 3YNTV03003T

BHTBMOIN os. SN o323
RRONG) 95,000 BRI DI SHETDL 77,000
eyl 3033 8, 008 35,000 ~ OVOIREHTOD 65,000
WOTYNYD QCBREBTT D 55,000

Sew3é 80,000 ~ D™ 76,000
w3 80,000 ~ PO 20,000
DEODTIBI0 15,000 ~ ®N® 12,000

3,05,000 3,05,000

T30 3;&)@ 303@01)&9{ IBBER  INBEEY  CINEQIBTY  TaNe z,’amﬁe.}o g FJAT03
INDeeT il :

4
2eBHCITO 46,000
mamRRl 82,000
ROOMPTN 15,000

2R, BABMROTRITY, 300 238503508 2308 SPBWOINT, D0DHTOBO DFe?odeNwT.
MsEo® Vs. 308, dgardrod z,’on"@o&) —-’og)_-ﬁosﬁ@}ai% WI3BO ISTIQA0.
Sudhendra, Yogendra and Rajendra are partners, sharing profits and losses in

the ratio of 2:2:1. The following is the Balance Sheet of the firm as on
31.12.2017, when they decided to dissolve the firm :

Balance Sheet as on 31.12.2017

Liabilities Rs. Assets Rs.
Creditors 1,20,000 Land and Building 1,20,000
Bills Payable 80,000 Plant and Machinery 1,30,000
Sudhendra’s Loan 20,000 Stock 1,10,000
Reserve Fund 20,000 Debtors 1,20,000
Capitals : Furniture 60,000

Sudhendra 1,60,000 Motor Car 40,000
Yogendra 1,40,000 Cash in hand 20,000
Rajendra 60,000
6,00,000 6,00,000
7
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It was decided to repay the dues as and when the assets realised. The details of
realization are as follows :

1.1.2018 Rs.1,90,000

1.3.2018 Rs.70,000

1.5.2018 Rs.1,70,000

1.7.2018 Rs.1,30,000

Prepare the statement showing distribution of cash.

opeory, adeerteon, F3) TzSeorTITO TeOWTTINGY, ol B03) HANYDY 2 : 2 : 10
OROTIIBY, H0BR)[T. Breos 31.12.2017 gord &30 303@0.‘1)@5\‘):L ARBVERED IFEDWTN
¥30 ©Ead BTl FYNT03TLIT :

31.12.20170 el 388

BPBMOTN Ow. es2rigD Ow.
RRONT 1,20,000 RN 3 SHEND 1,20,000
30w33, BooBML 80000 MO K abodaedion | 36 000
ABEOT,) 5O 20,000  SOR® 1,10,000
5098, OB 20,000  FOMOT® 1,20,000
WOBSYRL : HEBRCTTTE 60,000

RoReos, 1,60,000  SH¢te00 5o0h 40,000
odserteod, 1,40,000 O 20,000
TEe0s 60,000

~6,00,000 ~6,00,000

TPQOMHTT wWoB0RY, &2 ST IB WowN ToBFEN €30 VI, 83 TRTEIT ST
o3 3YNT03S

1.1.2018 dw. 1,90,000
1.3.2018 dw. 70,000
1.5.2018 dw. 1,70,000

1.7.2018 dw. 1,30,000
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iils of .-, Vrinda, Sandya and Nandu carry on business in partnership sharing profits and
losses in the ratio of 3:1:1. On 31.12.2017 they agreed to sell their business to
Saroja Co. Ltd. Their position was as follows :

Liabilities Rs. : Assets Rs.

Creditors 1,20,000 Cash 20,000

Bills Payable 60,000 Debtors 1,90,000

Capitals : Stock 1,56,000

° Vrinda 1,80,000 Land and Building 2,44,000

Sandya 1,60,000 Plant and Machinery 80,000

21 10 Nandu 1,40,000  Furniture 70,000
Jeo Reserves 1,00,000

7,60,000 7,60,000

Saroja Co. Ltd. agreed to takeover the assets as under :

Rs.
Debtors 1,80,000
Land and Building 2,70,000
Furniture 56,000
Stock 1,64,000
Plant and Machinery 68,000
Goodwill 66,000

The company also agreed to takeover the Creditors and Bills Payable at
Rs.1,10,000 and Rs.50,000 respectively.

The company paid 40,000 equity shares of Rs.10 each fully paid and the balance
in cash. The expenses of sales (Realisation) is Rs.8,000.

Prepare the necessary accounts in the books of the firm.

Fowo, s’oqr% 303 Jord Joe0M0F ﬁoﬂ@aﬁd:bgdod €223 aa&)o.bai%S 1 1: 1 o003 How
30980, w08 31.12.2017 Jowdd 3R F,[HOIWY, RS To. J. WION S390B0) T 0T
3e399¢ DATRT. ©3T :’%Swmdw 28 o FYAT 08T ¢

stea>8}
DRTHMOTRLD C. AN on.

Rl a1e8) 1,20,000 snwo 20,000
BPBEIT, BOOBNFO 60,000 TOOMDTTO 1,90,000
\ 2OBTIYNRD : AREEIS 1,56,000
30w 1,80,000 WM B3 33 244,000
- Rog, 1,60,000 AST 303y 003,eTTT 0 80,000
TOTO 1,40,000 SeBRCTTT NGO 70,000

VRN 1,00,000
7,60,000 ~7,60,000
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RTRED F0. Q.0BTO BANYBY, Bt FYNT0I IrtToBRY,e0 2lTP0RS :

..
FOOMPTT) 1,80,000
Pl 353) FLIE 2,70,000
ACBHHCHTT LN 56,000
BIHIT 1,64,000
IT 30K abodeeBTOR 68.000
ROT) 66,000

FoRN0D FINTL SO émzsssd soo@ﬁe}ai% Sw. 1,10,000 &03) Sw. 50,000 &xHs80m00
b%ﬁﬁo@d.

F0ZO03D Tse. 1008 I WSodh 30RpNE Tdyw 40,000 ‘3%(3&3 Beoondd Tane B
IDTF) BRBO CHBBY, FABED wdT. B2 I DF TH. 8,000 s,

305D B)336E), 0388 a3y 30iPB2O.

Sunanda kept her books under single entry system. During the year ended
31.12.2016 her cash transactions were as under :

Receipts Rs. Payments Rs.
Opening balance 48,000 Salaries 22,000
Cash Sales 30,000 General expenses 4,000
Received from Debtors 1,92,000 Rent 10,000

Drawings 32,000
Paid to Creditors 1,70,000
Closing balance 32,000
2,70,000 ©2,70,000

The assets and liabilities were as follows :

Assets and Liabilities 1.1.2016 31.12.2016
Rs. Rs.
Creditors 26,000 24,000
Debtors 14,000 14,000
Stock 20,000 1,20,000
Buildings 2,40,000 2,40,000
Machinery 50,000 50,000

Depreciate Machinery by 10%.

Prepare Trading and Profit and Loss Account and Balance Sheet for the year
ended 31.12.2016.
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moTow 38, BRBRIBY DT DS a”d@éobqf&é.?udo@d Bwe08 31.12.20163, B3R P0TE3
©=T BNGO stdmdﬁ%b o F$NT03 :

R;Qeﬁéémb Ow. _ To33ND ..

005s S0 48,000 ~ SRONH 22,000
BN [T 30,000 mﬁmzﬁd dz&uﬁ%b 4,000
TOMT00T SBOBY, 1,92,000 Wk 10,000
5’(303%6 3r’B0BL0BBY 32,000

ORI DSSATW, 1,70,000

@033 80, 32,000

~2,70,000 ~2,70,000

30 esyrie BB BRVBROTNLL B FSNT03I

es3neh FO3) BPTBMOTNLO 1.1.2016 31.12.2016
T, L.
postolaten] 26,000 24,000
TOMRTTO 14,000 14,000
ADREINY 20,000 1,20,000
&acémb 2,40,000 2,40,000
0303,2,c5TT LMY 50,000 50,000

obhodeeszgeny Soed e. 100 3II5Y 3rioW0.

B 31.12. 20163 BR3RPoEo3 D90 ToT S0 ey TP ('\50& 2793 3o IFI wééodoab
303700%0.

Parikshit and Anush entered into a joint venture agreeing to share the profits
and losses in the ratio of 3:2. Parikshit purc chased goods worth Rs.38,000 and
sent to Anush. He paid Rs.3,000 for freight, Rs.2,000 for insurance and Rs.1, 0006
for octroi. He received a draft of Rs.18,000 as advance from Anush. Anush also
purchased goods worth Rs. 28,000 and spent Rs.1,500 as advertisement and
Rs.1,000 as selling expenses. Anush sold all the goods for Rs.80,000 and sent a
bank draft for the amount due to Parikshit.

Prepare necessary ledger accounts in the books of both the parties.

B0egs® o3 RORTICY W03 OB aSaSaad 3I@en JpIES INd, oy B3 HaANIT.
3 : 23 ox0T3TY) HowERY 0 uwwdo Boega*®o dwe. 38,000 z&)’ae)d FOBONIR, sabeaﬁu
IRORIN TLIBO. 8IS 8. 3,000 MeB wodnimen, dwe. 2,000, :D:bmﬁ ®ane Tw. 1,000,

2o08E),N 3300833 B3R BFRNT Te. 18,000 do’@od 239,0%° BoOBOLI), Swonw@saN
3BT, vBRSP Se. 28,000 sa’aow 20BONYEY :Daemdab Fone BR. 1,500 neso
S0 DBOFNIR Bee3TOITO. emw\m e INID), BA. 80,000 Rt S500BRL Hanss
Evtely e WARALL \BOR ‘Ssad 239,05° BooBALBY, FLOLATO.

920 R3BrYen 835530 D3RI 380200.

pry
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13. Case-Study (Compulsory) :

Govindraj mining company took a mine on lease from a landlord at a royalty of
Rs.20 per tonne of coal raised with a minimum rent of Rs.50,000 p.a.

The other terms of agreement were as follows :

(a) Each year’s excess of minimum rent over actual royalties earned shall be
recoverable out of the excess royalties of next 2 years.

(b) In the event of strike, minimum rent be reduced proportionately to the
period of strike.

The output for the four years were as under :

Year Output in tones
2014 2,000
2015 2,200
2016 2,800
2017 (strike for 3 months) 3,000

Prepare following accounts in the books of mining company :
(1) Royalty Account

(i) Landlord Account

(iii) Short Workings Account

RReoR0TE NESNdT FoTIOY, W z_:mm&ﬁ&)csa m*Sodegi Reest IBHE. Be. 50,0000

30, wadraleodit T3 v Seces BB O, 20 Tod TomR, AERIZTING. 30208 930

0903190 B3 FYNT03SI :

(a) S33=F oazsﬁa%&oé émud 3R, WaBROLTY, 0ok 2 Sarﬁefe‘)moazsﬁaa"mwmﬁ JBR
FooBen ¥ITIZITOZE.

(b) ma‘s&dﬁ%ommﬁ, SVROR IREBY,  TIK WaRR oY, emmsdc‘d&oj&

BABORALBBOTING.
T, I3ET wm@d&odo s 39AT08T :
DAF ema‘awdaf ésab‘ﬁe}e‘gﬁ
2014 2,000
2015 2,200
2016 2,800
2017 (3 3on¢ ;Soo-’whd) 3.000

Resedd BozsA0D R)RTNYS, T8 FINT 370371¢Y, 30OV
(i) U&%ﬁamé

(i) 2P0 IPDeTS w3

(iii) OBB 3PTS wed
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